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INTRODUCTION / BCTYII

MeToro METOIMYHUX peKoMeHAalllli € 3a0e3nedeHHs (popMyBaHHS
IHITOMOBHOI TIpohecifHOT KOMYHIKAaTUBHOI KOMIETEHIli CTYJIeHTIB (i3UKO-
MaTeMaTUIHOTro (aKkyJIbTeTy 1 JocsirHeHHs Humu piBHI B2. CrBopeHHs
METOJAMYHUX pPEeKOMEHMalii Oylo OO0OyMOBJIEHO BHUMOTaMH 4Yacy: 3TiAHO 3
KBaTiiKalIfHUMU CTaHAapTaMU JOCATHEHHS piBHA B2 3 1HO3eMHOI MOBH €
00OB’SI3KOBUM 71l 37400yBaviB MEPIIOTO OCBITHBOTO (OaKalaBpCHKOTO) PIiBHS
BUIIOT OCBITH.

BukopuctanHs METOIMYHMX pEKOMEHAaliid mependadae  pPO3BUTOK
KOMYHIKaTUBHOI ~KOMIIETEHI[I 3 aHIJIHAChKOI MOBH Yy CTYAEHTIB (PI3HKO-
MaTEMaTHYHOTO HANpsAMy Ha OCHOBI IIPEAMETHUX 3HAHB Ta MOIMEPETHHOTO JOCBITY
y MeXaX CUTyaTUBHOT'O KOHTEKCTY, OB’ 13aHOT0O 3 HABUYAHHSM 1 CIIeLiaII3aI€lO.

TecToBi 3aBmaHHd — € He Juile 00 €KTMBHUM 3aCO00M BHUMIpPIOBaHHS
pe3yibTaTiB HaBYAIbHOI JISUIBHOCTI CTYIEHTIB, a W BaXKJIIMBUM I1HCTPYMEHTOM
MIJBUIICHHS PIBHS MATOTOBKH (DaxiBIlIB, MOCHJICHHS KEPOBAHOCTI HaBYAJIbLHOIO
npouecy. ToMy 0co0iIMBO  akTyaJlbHUM CTa€  yJOCKOHAJIEHHS  3aco0iB
MEeJaroriYHoro KOHTPOJIO 1 METOJUKH OI[IHIOBAaHHS SKOCTI OCBITHIX MPOTpam,
3a0€3MeUeHHsI IX BUCOKOTO HayKOBO-METOJAMYHOTO PIBHS.

CTpyKTypHO METOJIMYHI pEeKOMEHJAIlli CKIaAaroThes 31 BCTYMy, 3 PO3JALIIB
(JlekcMyHMI ~ MaTepianmn  AKUX ~MmigiOpaHud  3a  rajny3eBUM  CHPSAMYBAHHSIM
cnemiagbHocTed  «Marematuka», — «@i3uka», «lHpopMmaruka»),  CHOUCKY
PEKOMEHOBAHO1 JIITepaTypu MJIS CaMOCTIMHOI poOOTH, BIAMOBIAEH 10 TECTIB.
TemMaTu4yHl pO3AUIM MICTATh TEKCTH JUIsl YUTAaHHS Ta MEpPEATEeKCTOBl Ta
MICISATEKCTOBI 3aBAaHHs, CIPSIMOBAHI HA PO3BUTOK HABUYOK O3HAHOMIIIOBAJILHOTO
Ta BUOIPKOBOI'O YUTAHHS JITEpaTypH 3a paxoM (Ha BCTAHOBJICHHS BIJIIIOBITHOCTEM,
BUOIp TPAaBWIBHOI BIAMOBIMI 3 JEKIIBKOX 3allpOIMIOHOBAHUX TOINO), Ta TECTH 3
sapnanasmu 3 «Use of Englishy (3amoBHEeHHS MPOMYCKIB Y TEKCTI), CIpSIMOBaHi Ha
PO3BUTOK Ta TMEPEBIPKY JIEKCUKO-TPAMAaTUYHMX HABUYOK, BIIPAIFOBAHHS
TECTOBUX CTpaTeriil.

["amy3eBa CHpsIMOBaHICTh TEKCTIB CHOPHUSE PO3IMIUPEHHIO 1HIIOMOBHOT
npodeciiiHoi KOMyHIKATHBHOT KOMITETEHIII1 37100yBadiB BHINOI OCBITH. MeTomn4H1
peKoMeHIalli MOXXyTh OyTH BHUKOPHCTaHI SIK MiJ Yac ayJUTOPHHUX 3aHATh, TaK 1
JUISL opraHizallli caMOCTIMHOT Ta 1HIUBIAYaIbHOT pOOOTH, @ TAKOX MPH 3A1HMCHEHHI
JTVCTAHIIINHUX TPEHIHTIB 3 MIATOTOBKU CTYACHTIB JO TECTYBaHHS 3 aHTJINUCHKOI
MOBH. Bci BipaBu cripsiMOBaHI Ha akTyali3aililo MOBHUX 3HaHb Ta BJIOCKOHAJICHHS
BMiHb BUKOHYBATH TECTOBI 3aB/IaHHS 3 aHTJI1HCHKOT MOBH.

MetoauyHl peKOMEHalli MOXYTh OyTH BHKOPUCTAHI SK J0JaTKOBE
HaBYAJIbHO-METOJIMYHE 3a0€3MEeUeHHs] TPU BUBYCHHI JUCHUIUIIH «AHTIIHChKA
MOBa» ( 3 ypaxyBaHHSIM HaIpsIMKY Taixy3eBOi MiATOTOBKH)», «AHIIIICHKA MOBa Yy
CUTYyaIlisiX mpoeciiHOTO CIIIKYBaHHSI», «|HTEHCUBHWI TPEHIHT Ui CKIIQTaHHS
MOBHHMX TECTIB» Ta TMpH MIATOTOBII 3100yBayiB BHUINOI OCBITU MEPUIOTO
(OakanmaBpCHKOT0) PIBHS [0 CKIQJAaHHA ICOUTY Yy CKJIaal €IMHOTO BCTYIHOTO
ICIIUTY J0 MaricTpaTypH.
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CHAPTER I. TEXTS IN MATHEMATICS

ACTIVITY 1.

L1 I. Read the text. Find Ukrainian equivalents from the box to the words:
v’ arecord

v’ atablet

v’ anotation

v’ to obtain

v’ to advance

v’ to invent

v’ to represent

v

to preserve

Ompumysamu, 30epicamu, BUHAXOO0UMU, NPeOCMABIAMU, PO3BUBAMUCH, 3ANUC,
odoujeuxa.

[Q 11. Put the paragraphs in the correct order. Read and translate the text:

THE DEVELOPMENT OF ALGEBRA

A Though we should remember that the beginning of algebraic thinking
dates back to the days of ancient Babylonia and Egypt. Algebra developed slowly
in comparison with arithmetic and geometry. What is now known as elementary
algebra is largely the work of mathematicians of the 16th and 17th centuries. Our
present knowledge of Babylonian mathematics is possible thanks to the translation
of mathematical records found on ancient tablets. These tablets are now preserved
in the world's leading museums. The information obtained in this way proves that
as early as 2000 B.C. the Babylonians had advanced very far in their study of
mathematics. Using algebraic methods they were able to solve many problems.

B To begin with, the term "algebra™ was taken from the long title of one of
the works of an Arabian mathematician who lived in Baghdad in the 9th century.
The long title was shortened to al-jabr and began gradually to take the form
algebra. At one time there was much debate among scientists concerning the exact
meaning of this title, but it may now be regarded as settled that the word al-jabr
really means the "science of equations".

C As to our present symbols of operations, they are of comparatively
modern origin. For example, the sign of equality (=) was invented by the English
scholar Robert Recorde and appeared in 1557. The origin of the use of letters in
algebra to represent known or unknown quantities is also of great interest. Among
the mathematicians who invented algebraic notation, we must mention the names
of Vieta, Harriot, Descartes; Newton and Leibniz.

D Moreover, something must also be said about the mathematical
knowledge of the early Egyptians. There are manuscripts, written on papyrus and;
dating from about 1850 B.C., which give us a clear picture of what they knew.
Some of the problems they dealt with are of the kind we should now solve by using
equations.
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L1 111. Complete the following sentences:
1. Algebra developed slowly...

2. Our present knowledge of Babylonian mathematics is possible thanks to...

3. Using algebraic methods they...

4. At one time there was much debate among scientists concerning...

5. There are manuscripts, written on...

(o]

. Some of the problems they dealt with are...

7. The origin of the use of letters in...

L1 1V. Find synonyms for words and phrases:
the origin; gradually; a debate; a scholar; to mention; to date back; ancient;
to preserve; to obtain; to begin with; moreover; though.

O V. Fill in the write preposition (to, by, of, among, with) and make
sentences:

a clear picture_ what they knew; to deal __ ; debates _ scientists;
in comparison___, tosolve __ using smth., thanks .

ACTIVITY 2. (GAPPED TEXT)

1 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6) There are two choices you do not need to use.

BASIC OPERATIONS OF ARITHMETIC

Now let us turn to the basic operations of arithmetic. There are four basic
operations that you all know of, 1. . In arithmetic an operation is a
way of thinking of two numbers and getting one number. We were just considering
an operation of addition. An equation like 7-2 = 5 represents an operation of
subtraction. Here seven is the minuend and two is the subtrahend. We may say that
subtraction is 2. :

The same might be said about division and multiplication, which are also
inverse operations.

In multiplication there is a number that must be multiplied. It is the
multiplicand. There is also a multiplier. When we are multiplying the multiplicand
by the multiplier 3. . When two or more numbers are multiplied,
each of them is called a factor. In the expression five multiplied by two (5x2), the 5
and the 2 will be factors.
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In the operation of division there is a number that is divided and it is called
the dividend; the number by which we divide is called the divisor. When we are
dividing the dividend by the divisor, 4. . But suppose you are dividing
10 by 3. In this case the divisor will not be contained a whole number of times in
the dividend. You will get a part of the dividend left over. This part is called the
remainder. Since multiplication and division are inverse operations, you may check
division, 5. :

There are two very important facts that must be remembered about division.

a. The quotient is 0 (zero) whenever the dividend is 0 and the divisor is not 0.
b. Division by zero 6.

A. we get the product as a result.

B. by using multiplication

C. they are addition, subtraction, multiplication and division.
D. is meaningless

E. the inverse operation of addition.

F. as a result of the operation you get five.

G. is the number by which we multiply

H. we get the quotient

ACTIVITY 3.

[ I. Read the text.

MATHEMATICS - HANDYMAN FOR ALL SCIENCES

Karl Friedrich Gauss, the famous 18th century mathematician, once called
mathematics the queen of sciences. In our view, its role is much loftier.

Mathematics is a handyman working for all sciences. Today economists,
linguists and psychologists resort to its services. Mathematics does its job so well
that other sciences depend to some extend on this handyman.

Mathematics follows the changes taking place in various fields of
knowledge and in this connection sets itself definite targets. At the same time,
scientists in other spheres must closely follow the progress made in mathematics
since it is impossible to keep abreast of latest developments in, say, physics
without making use of mathematics.

The recent achievements in biogenetics, in particular, are closely linked with
progress in mathematics. It would be impossible to decipher the genetic code, the
code of heredity had we not had such terms as coding, transmission of information
and so on.

Mathematics is often occupied with "strange" things. One of the leading
mathematicians in the world, Andrei Kolmogorov, was making a thorough study of
matters pertaining to higher nervous activity and to poetry. Of course
mathematicians do not at all intend to entrust machines to write poetry for us. But
Andrei Kolmogorov applied mathematics to analyzing the problems of writing
verse.

In the 30s of 20th century it seemed that mathematics only studied
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continuous functions, differentials, integrals, differential and integral equations.
Yet, during the Second World War the first electronic computers were made. Few
people know that once there were two points of view regarding mathematical
machines. There were machines of discrete action and machines of continuous
action, reproducing functions and processes. The upper hand was gained
completely and unequivocally by the discrete machine, by cipher computers,
because any discrete alphabet makes it possible to record the most diverse
phenomena with sufficient precision. Modern electronic machines are designed on
this pattern. They use a language possessing a small number of letters, but by
alternating these letters, they can describe highly intricate processes.
Thus, Mathematics itself experiences a very strong influence of other
sciences. The changes in mathematics connected with progress in other.
WORDS:

v' Resort — ssepmamucs no oonomozy

v' handyman — maiicmep na eci pyxu

v' to keep abreast — 6ymu 6 kypci

v’ unequivocally — oonosnauno

v’ cipher computers — wugpoeani xomn'tomepu

v’ diverse phenomena — pisnomanimui seuwa

v’ with sufficient precision — docmamus mounicmo

v’ alternating — uepzysanns

v" intricate processes — ckradui npoyecu.

L1 11. State whether These Statements are True or False:

1) Mathematics is connected with other sciences very much.

2) Scientists in other spheres mustn’t closely follow the progress made in
mathematics.

3) Genetics is closely linked with progress in mathematics.

4) The code of heredity can be easily deciphered without mathematics.

5) Mathematics can be applied to analyzing the problems of writing verse.

6) During the First World War the first electronic computers were made.

7) Any discrete alphabet makes it possible to record the most diverse
phenomena with sufficient precision

L1 111. Complete the Following Sentences:
1) Karl Friedrich Gauss once called mathematics.............................
2) Mathematics d0€es its JOD SO.......ceivviriiriit i,
3) Mathematics follows the changes...................cooiiiiiiiiiiiinn.,
4) The achievements in biogenetics are closely linked with.................
5) There were machines of discrete action and......................c.........
6) Electronic machines use a language possessing...............ccceueuvennn.
7) The changes in mathematics connected with..............................

L 1V. Look at the words in bold and try to explain them, then choose any
three of them and make sentences.
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[ V. Retell the text.
ACTIVITY 4.

[0 1. Read the text below. Fill in the gaps with the words from the list below
For example, language, solve, envelope, symbols, purpose, height, valuable,
amount, depend.

HOW LETTERS ARE USED IN ALGEBRA

Some mathematicians thought that the invention of was the greatest
event in the history of man and that without them no intellectual advance could be
possible. In thousands of offices all over the world a large __ of correspondence
is looked through during the day. It would require much work and time to write all
these letters in the usual way. That is why offices often __ on the services of
stenographers who have mastered the art of commercial shorthand. In this way
much time has been saved. After a business letter has been dictated, it is
printed on a typewriter.

After that another kind of shorthand is used. It is illustrated by the address
which is written on the . Each of the names in the address is preceded by
certain initials. , instead of writing the name James Parker Lewis, the shorter
form J. P. Lewis has been used.

In the same way mathematicians have succeeded in developing
mathematical shorthand, which is known as algebra. Let us suppose, for example,
that we must find the size of a classroom. To do it we know its length, width
and . In order to this problem use initial letters, writing | for
"length”, w for "width", h for “height". Many other examples could be given to
show how the initial letters of important mathematical words are used for the

of mathematical shorthand.

Algebra as a branch of mathematics is much younger than arithmetic or
geometry. It is used in many applied fields. Algebra can be compared to a
language, but it says more in fewer words, than any other

L1 11. Complete the Following Sentences:
1. In thousands of offices

2. After a business letter has been dictated

3. In the same way mathematicians

4. Each of the names in the address

5. Algebra as a branch

6. Algebra can be compared to

7. Many other examples could be given to

10
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L1 111. Fill in the correct preposition, then choose any five items and make
sentences.

1) To look ....... correspondence.; 2) to be printed... a typewriter; 3) to be
preceded ........ certain initials; 4) instead ...... writing the name; 5) in order
.......... ; 6) to be compared.......... a language, 7) all ........the world; 8) the
event..... the history ........ man; 9) to write ...... the usual way; 10) another kind
.......... shorthand.

1 1V. Retell the text.

ACTIVITY 5. (MULTIPLE CHOICE)

L1 1. Read the text below. For questions (1-5) choose the correct answer (A, B,
Cor D).

CLOSURE PROPERTY

If we add two natural numbers, the sum will also be a natural number. For
example, 5 is a natural number and 3 is a natural number. The sum, 8, is also a
natural number. Following after other examples in which two natural numbers are
being added and the sum is another natural number. 19+4=23 and only 23; 6+6=12
and only 12; 1429+357=1786 and only 1786. Since there is one and only one sum,
we say that the sum is unique. This is called the uniqueness property.

Since this is true we say that the set of natural numbers is closed under
addition. This is a statement of closure, one of special properties of addition.

Notice that we can name the sum in each of the above equations. That is the
sum of 5 and 3 exists, or for example, there is a number which is the sum of 19 and
4. In fact the sum of any two numbers exists. These is called the existence
property.

Both existence and uniqueness are implied in the definition of closure.

If a and b are numbers of a given set, then a=Db is also a number of that same
set. For example, if a and b are any two natural numbers, then a+b exists, it is
unique, and it is again a natural number.

If we use the operation of subtraction instead of the operation of addition,
we cannot make the statement we made above. If one natural number is being
subtracted from another natural number the result produced is sometimes a natural
number, and sometimes not. 11-6=5 and 5 is a natural number. 9-9=0 and 0 is not
a natural number.

When two natural numbers are being multiplied there is always a natural
number which is the product of the two numbers. Every pair of numbers has a
unique product which is again a natural number. Thus the set of natural numbers is
closed under multiplication.

In general, the closure property may be defined as follows: if x and y are any
elements, not necessarily the same, of set A and *(asterisk) denotes an operation*,
then set A is closed under the operation if (x*y) is an element of set A.

11
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It must be pointed out that it is impossible, to find the sum or the product of

every possible pair of natural numbers. Hence, we accept the closure property
without proof, that is an axiom.

1.

Which of the following is TRUE about adding two natural numbers?
A The sum is a whole number.

B The sum is an unnatural number.

C The sum is a natural number too.

D The sum is fractional numbers.

The unigueness property means that

A may be different meanings of the sum

B the sum is less than one of the terms

C the sum is always rounded

D there is one and only one sum

If a and b are any two natural numbers, then a+b exists, it is unique, and it is
again a natural number. We can make this statement ( in bold) if
A we use the operation of subtraction

B we use the operation of addition

C we use both operation of addition and subtraction

D we can’t make this statement in any of these options

When two natural numbers are being multiplied there is always a natural
number which

A is the product of the two numbers

B is the sum of the two numbers

C is the quotient of the two numbers

D is the difference of the two numbers

According to the text

A an axiom must be proved

B an axiom mustn’t be proved

C the closure property isn’t an axiom

D the closure property must be proved.

ACTIVITY 6.

. Read the text.

TRIGONOMETRY
The word “trigonometry” is derived from the Greek word, meaning “three-

angle measurement”. Trigonometry is a branch of mathematics which deals with
the relations among the angles and sides of triangles and the relations among the
trigonometric functions of these angles.

In the past the main thing in trigonometry was the measuring of the parts of

triangles. The modern trigonometry is not so much interested in solving triangles

12
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as in its being applied to sciences. It includes all kinds of investigations of
trigonometric functions of angles and numbers. It also includes the relations among
functions, the meaning and the use of vectors, complex numbers and solutions of
triangles.

Trigonometry is not a new subject. It was known even before the Greeks
developed geometry. The earliest investigations in trigonometry are believed to
have appeared about 2000 B.C. Some scientists consider Hipparchus (born about
160 B.C.) to have been the father of trigonometry as a science. He prepared a table
of chords of circles. Ptolemy, who lived about 150 A.D., developed the subject by
extending the table of chords.

In the first century B.C. the great mathematician Heron introduced the
tangent function when he was making a study of the areas of polygons. The Hindus
and Arabs have contributed to trigonometry too. The Hindus, for example,
replaced the table of chords by a table of half chords (a table of sines). The Arabs
were the first to discover the law of sines and the law of cosines for spherical
triangles. The trigonometry of the Arabs came to Europe in the 14th century.

The first book on trigonometry was written in 1464 A.D. by Johann Mueller.
Isaac Newton (1642-1727), one of the greatest mathematicians, developed a
mathematical series by which the value of sin x could be determined. He also made
improvements in the tables. Among later mathematicians who succeeded in
developing trigonometry the name of Leonard Euler (18th century) may be
mentioned.

In the early stages trigonometry was used in measuring heights and
distances. Later it was used in studying and developing astronomy. Since the 20th
century trigonometry has become a study of the properties of' the trigonometric
functions and their use in science and mathematics.

WORDS:
v’ trigonometry — TpuroHomMeTpis
v angle — xyr
v’ triangle —tpukyTHHK
v’ polygon — GararokyTHUK
v’ atable of chords — Tabmuus xopx
v" A.D. = anno Domini — (;1at.) HoBoi (Harof) epu
v B.C. = Before Christ
v’ atable of sines — rabnuus cunycis
v’ COSiNe — KOCHHYC

L1 11. State whether These Statements are True or False:
1) Trigonometry is a branch of physics.
2) The modern trigonometry is interested in solving geometric problems
triangles.
3) Trigonometry is a new subject.
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4) The Hindus were the first to discover the law of sines and the law of
cosines for spherical triangles.

5) The first book on trigonometry was written by Johann Mueller.

6) In the early stages trigonometry was used in measuring heights and
distances.

7) Now trigonometry is used only in studying astronomy.

L1 111. Complete the Following Sentences
1) The word “trigonOmMEetryY” 1S.......ouiiit it
2) Trigonometry deals with...............coooiiiiiiiiiii i,
3) The modern trigonometry inCludes...............oooiiiiiiiiiiiiii e,
4) Ptolemy

developed. ..o
5) Heron introduced. ..........c.oviiiiiiiiii e
6) The Hindus replaced ............oooiiiiiiiiiii i
7) The Arabs were the first to diSCOVer .........ooovviiiiiiiiiiiieiiiena,
8) The first book on trigonometry was written in......... |0) 2P
9) Isaac Newton developed a mathematical........................ooiiina,
10) Since the 20th century trigonometry has become a study of.............

L 1V. Rewrite the sentences using who, which

1. Trigonometry is a branch of mathematics. It deals with the relations among
the angles and sides of triangles.

2. Ptolemy was a great mathematician. He lived about 150 A.D.

3. The trigonometry of the Arabs came to Europe in the 14th century.

4. Among later mathematicians the name of Leonard Euler (18th century) may
be mentioned. He succeeded in developing trigonometry.

5. Isaac Newton developed a mathematical series by which the value of sin x
could be determined. He was one of the greatest mathematicians.

[ V. Retell the text

ACTIVITY 7.

[ I. Read the text.

THE TRUTH IN GODEL’S PROOF

Ever since the time of Euclid, 2,200 years ago, mathematicians have tried to
begin with certain statements called “axioms” and then deduce from them all sorts
of useful conclusions.

In some ways it is almost like a game with two rules. First, the axioms must
be as few as possible. If you can deduce one axiom from the others, that deduced
axiom must be dropped. Second, the axioms must be self-consistent. It must never
be possible to deduce two conclusions from the axioms with one the negative of
the other.

14



& AHIJIIHCbKa MOBA I Qi3UKO-MATEMATHYHOI0 HATIPAMY &

Any high school geometry book begins with a set of axioms: that through
any two points only one straight line can be drawn; that the whole is equal to the
sum of its parts, and so on. For a long time, it was assumed that Euclid’s axioms
were the only ones that could build up a self-consistent geometry to that they were
“true”.

In the 19th century, however, it was shown by a famous scientist Godel that
Euclid's axioms could be changed in certain ways and that different "non-
Euclidean geometries™ could be built up as a result. Each geometry was consistent
from the others, but each was self-consistent. After that it made no sense to ask
which was "true". One asked instead which was useful.

In fact there are many sets of axioms out of which a self-consistent system
of mathematics could be built; each one consistent, each one self-consistent.

In any such system of mathematics you must not be able to deduce from its
axioms that something is both so and not-so, for then the mathematics would not
be self-consistent and would have to be scrapped. But what if you make a
statement that you can't prove to be either so or not-so?

WORDS
v’ conclusions — BUCHOBOK
v ded UC€ — BUBOJJUTU BUCHOBOK, IMPOCTCKUTH, BCTAHOBUTH ITOXOPKCHH:A
v’ consistent — mocioBHUH, CyMicHUIA
v/ sCrap — BUKHIATH 3a HEMOTPiOHICTIO
L1 11. Read the text and match the questions with the correct answer.

1. The writer of the text wants
A) to warn people how difficult mathematics is as a science.
B) to tell about Godel’s theory.
C) to demonstrate the content of high school geometry books.

2. The text gives readers
A) tips on learning geometry.
B) a warning about wrong formulas.
C) the history of “non-Euclidean geometries”.

3. According to the text, the whole is equal to the sum of its......

A) tips.

B) formulas.

C) parts.
3 111. Match words 1-5 with words A—E. Translate the expressions into
Ukrainian. Then make your own sentences using these word combinations in
English.

1. straight A conclusions

2. high B consistent

3. set of C school

15
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4. self- D line
5. useful E axioms

EQ 1V. Find the words in the text derived from the words:

Mathematics, use, consistent, science, prove, equality, draw.

[ V. Retell the text.
ACTIVITY 8. (MULTIPLE MATCHING)

[0 1. Read the text below. Match choices (A-H) to (1-5). There are three
choices you do not need to use.

WHOLE NUMBERS

1. Many statements in mathematics are concerned not with a single number
but with a set of numbers that have some common property. For example, such a
set of numbers is the set of even numbers 0, 2, 4, 6...or set of odd numbers 1, 3, 5,
7... When you write 6x3=18 it means that you write number 18 as a product of two
whole-number factors. Another pair of whole-number factors will be 9 and 2.
Since 2x9=18. Will you be able to name other factors of 18? Let us agree to call 6
and 3 just one pair of factors of 18.

2. When you use 0 as one of the factors, what should the product be? That is,
0 times 5 equals what number? Or 7 times 0 equals what number? The answer for
these questions is summarized in the following statement: For any number a,
ax0=0

3. Since ax1=a for any number a, we know that 1 is a factor of every whole
number. Let us agree to omit 1 as a factor when naming a number in factored form.

4. You already know that every whole number has 1 and itself as a factor.
That is 9x1=9 and 11x1=11. Some such numbers have only 1 and themselves as a
factor. Since its only factors are 1 and 5, 5 is such a number. A whole number is
called a prime number, or just a prime if: It is greater than one and its only factors
are 1 and itself.

5. Acomposite numberis a positive integer that can be formed by
multiplying two smaller positive integers. Any whole number other than 0 or 1
which is not a prime number is called a composite number, or just a composite.

A. This factor can be omitted.

B. Common properties for even numbers.

C. Its only factors are 1 and itself.

D. Common properties for Whole numbers

E. Common properties for odd numbers.

F. If you want to get zero in your result.

G. One way to classify composite numbers.

H. Whole numbers not including prime numbers.
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O 11. Match the words (1-7) with their definitions (a-g)

1) a whole number a) an integer greater than 0.
2) a prime number b) a statement that is taken to be true.

3) a composite number  ¢) an integer that can be divided by two and
remain an integer or has no remainder.

4) an odd number d) a whole number greater than 1 whose only
factors are land itself

5) an even number e) an integer when divided by two, either leaves
a remainder or the result is a fraction.

6) a natural number f) an integer that is O or greater.

7) an axiom g) a positive integer that can be formed by

multiplying two smaller positive integers.
ACTIVITY 9. USE OF ENGLISH. GAP FILL (GRAMMAR)

[0 1. Read the text and complete the gaps (1-12) using the correct answer (A-
D) from the options given below.

WHY FORMULAS ARE IMPORTANT

There 1. at present millions of different homes all over the world.
Naturally, the problem of housing 2. every person.

Perhaps you have never 3. of the amount of planning that even a
small house requires before 4. construction begins. 5. questions have to

be solved before the architect designs such a house: questions of dimensions, of
materials and, of probable, costs. After the blueprints have been completed a lot of

computing and figuring must be 6. . The same problems 7. in
manufacturing automobiles, airplanes and machinery.
The computational work which is necessary in solving 8. problems is

simplified by using formulas. They have been discovered and developed 9.
the combined effort of mathematicians, scientists and engineers. That is why the
formula has been called a key to knowledge.

A mathematical formula arises when a mathematical rule or relation is
written in the shorthand of algebra. Therefore it is very important to be able

10 the rule or relation which underlies 11. formula. We can also
12.  formulas from tables.
1.
Ais B are
C was D were
2.
A concern B is concerned
C concerns D was concerned
3.
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A thought B think
C thinked D thinks
4,
A its B it
Cit’s D its’
5.
A much B little
C many D a little
6.
A do B did
C does D done
7.
A arise B to arise
C arises D has arisen
8.
A this B those
C that D these
9.
A on B with
C by D through
10.
A discover B discovered
C to discover D discovering
11.
A such a B so
C such D so as
12.
A to obtain B obtain
C obtaining D obtained

ACTIVITY 10. USE OF ENGLISH. GAP FILL (GRAMMAR)

[0 I. Read the text and complete the gaps (1-5) using the correct answer (A-D)
from the options given below.

BAD NAMES FOR GOOD NUMBERS

Complex numbers were first introduced 1 the Italian mathematicians of
the 16th century, 2 __ found that it was impossible to solve certain equations
without them. In those days some mathematicians used only one number system of
positive and negative numbers. They thought that the numbers in this system
3 genuine and therefore called them real.

One must know that the complex numbers did not belong to the real number
system. So, although they were used as a convenience, the mathematicians
regarded them as unreal and called 4 Imaginary. Rene Descartes, the great
mathematician of the 17th century, 5 the reality of these numbers, so

18
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there wasn't anything surprising in the fact that he rejected them altogether.

Today we realize that there are 6 number systems. All 7 equally
genuine, although they differ in some way from one 8 . But we still use the
old names, "real numbers" and "imaginary numbers". So one must be careful not

9 influenced by the old meanings expressed in 10 names. When
using the term "imaginary numbers" today, we must remember that this is only a
technical term. When 11 of imaginary numbers we must 12 that they
are genuine numbers.
1.
A with B-
C by D who
2.
A when B who
C where D what
3.
A was Bis
C were D are
4,
A they B them
C their D it
5.
A doubt B doubted
C doubts D was doubted
6.
A many B little
C much D a little
7.
Ais B am
C are D was
8.
A the others B other
C others D another
9.
Ato be B be
C being D been
10.
A this B that
C these D those
11.
A to speak B speaks
C speak D speaking
12.
A to understand B understands
C understand D understanding
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ACTIVITY 11. USE OF ENGLISH. GAP FILL (GRAMMAR)

L1 I. Read the text and complete the gaps (1-12) using the correct answer (A-
D) from the options given below.

MATHEMATICAL SYMBOLS

We cannot live a day 1. . numerals. Numbers and numerals are
2. . On this page you will see number names and numerals. The number
names are: zero, one, two, three, four and so on. And here are the corresponding
numerals: 0, 1, 2, 3, 4, and so on. In a numeration 3. numerals are used
to represent numbers, and the numerals are grouped in a special 4. . The
numbers used in our numeration system are called digits.

In our Hindu-Arabic system we use only ten 5. :0,1,2,3,4,5,6,7,

8, 9 to represent any number. We use the same ten digits over and over again in a
place-value system whose base is 6. :

These digits may be used in various combinations. Thus, for example, 1, 2,
and 3 are used to write 123, 213, 132 and so on.

One and the samenumber could be represented in various ways. For
example, take 3. It can be represented as the sum of the numbers 2 and 1 or the
difference between the numbers 8 and 5 and so on.

A very simple way to say that each of the numerals names the same number
Is to write an 7. — a mathematical sentence that has an equal sign ( =)
between these numerals. For example, the sum of the numbers 3 and 4 equals the
sum of the numbers 5 and 2. In this case we say: three plus four (3+4) is equal to
five plus two (5+2). One more 8. of an equation is as follows: the
difference between numbers 3 and 1 equals the 9 between numbers 6 and 4.
That is three minus one (3-1) equals six minus four (6-4). Another example of an
equation is 3+5 = 8. In this case you have three numbers. Here you add 3 and 5 and
get 8 as a 10. . 3 and 5 are addends (or summands) and 8 is the sum. There
is also a plus (+) sign and a sign of equality (=). They are mathematical symbols.

1.

A out of B with

C off D without
2.

A everybody B everyone

C everywhere D anywhere
3.

A system B line

C equation D difference
4,

A line B group

C way D reason
5.

20



& AHIJIIHCbKa MOBA I Qi3UKO-MATEMATHYHOI0 HATIPAMY &

A numbers B numeric
C figures D digits
6.
A one B ten
C hundred D zero
7.
A equation B sum
C figures D zero
8.
A figure B example
C sum D reason
9.
A sum B equation
C result D difference
10.
A difference B result
C sum D line

ACTIVITY 12. (GAPPED TEXT)

[ I. Find Ukrainian equivalents from the box to the words:

Hacniook, nnowuna, npunywenms, 8i0nogioHo, NOBEPXHs, MeNCY8aAMuU, NONEPeoHs.
YMo8a, Kpanka, bicekmpuca, Kym.

respectively —
a bisector —
an angle —

to survey —

a postulate —
a corollary —
a point —
assumption —
a plane —

AV N N N N N

[ 11. Read the following text, from which five sentences have been removed.
Choose from the sentences (A-F) the one which fits each gap (1-5) to obtain a
logical and grammatically correct text. There is one extra sentence that you do
not need to use.
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GEOMETRY
The word “geometry” comes from the Greek words geos and metron which
mean respectively “earth” and "measure”. 1. Geometry is the basis of

many things that we use today. It is a study of the size, shape and position of
figures in space.

Geometry has practical value. It is necessary for people in many occupations
and it is also necessary in the study of physics, engineering, architecture and
related subjects.

In geometry we use such terms as triangle, angle, bisector, perpendicular and
circle. To develop facts about geometric concepts, we prove statements concerning
them. The statements we accept without proof are called postulates, or axioms, or
assumptions.

2. The basic figures in geometry are points, lines and planes.

We represent a point on paper by a dot., though the dot is not a real
geometric point.

3. But if we want to make a picture of a point, we can use a dot arid
place a capital letter near it. Thus, .A represents a point.

Like a point, a geometric line is a mental concept. To represent a straight
line we draw a picture of a line along a ruler. 4.

In space there are sets of points which we call planes. Objects with flat
surfaces, such as a table or a mirror, are planes, but no matter how flat a surface is,
it is not a geometric plane. 5. A plane is most often represented as a
parallelogram.

A Each geometry was different from the others, but each was self-consistent.

B Statements that we can prove are called theorems or corollaries.

C A geometric point is a mental concept, it has no length, breadth or
thickness, that is, no size.

D Geometry probably appeared with the efforts to survey land.

E A geometric plane cannot be seen — it can only be imagined.

F A straight line is named by any two points on it or by a small letter near it.

3 111. Put the words in the correct order to make sentences.
1. Basis, things, Geometry, many, of, the, is.

2. In, lines, figures, planes, basic, geometry, are, points, and, the.

3. Value, practical, Geometry, has.

4. Which, call, sets, are, we, planes, there, points, of.

5. A, point, concept, geometric, mental, is, a.

L1 1V. Make questions to each sentence.
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1. In geometry we use such terms as triangle, angle, bisector, perpendicular and
circle.

Geometry is a study of the size, shape and position of figures in space
Geometry appeared with the efforts to survey land.

Geometry is necessary for people in many occupations.

Geometry is necessary in the study of physics, engineering, architecture and
related subjects

abhwm

1 V. Retell the text.
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VOCABULARY PRACTICE

A B

[ 1. Fill in the correct word from the list below:
hypotenuse; a right triangle; obtuse angle; four; equilateral triangle; an
isosceles triangle; the legs; two; opposite; an acute angle; parallel; right
angle.

1.
2.
3.

In the drawing ray PA and ray PB forma..........
CPA being less than 90 we call it an.......
APD is greater than 90 we call it an.........

B E K

A C D F M

4. Triangles may be classified according to the measures of the angles or the
measures of the sides.

5. A ABC is referred to as an...... The sides of such a triangle all have
same linear measure.

6. ADEF is called ........ which means that its two sides have the same
measure.

7. AMKL being referred to as ....... means that it contains 1 right angle.

8. In AMKL , AM is the right angle, sides MK and ML are called....... , and
side KL is called the ........

9. The hypotenuse refers only to the side ........ to the right angle of a right
triangle.

10.Quadrilaterals are geometric figures having ....... sides. A trapezoidal has
only ...... parallel sides.

11.A parallelogram is a quadrilateral whose opposite sides are .......
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L1 11. Match the adjectives with the nouns.

1. Right A) figure
2. Opposite B) angle
3. Straight C) side

4. Exact D) line

5. Geometric E) location
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CHAPTER II. TEXTS IN PHYSICS
ACTIVITY 1. (GAPPED TEXT)

[ 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6) There are two choices you do not need to use.

NEWTON
The greatest of natural philosophers, was born on 25th December 1642 — year
remarkable in the history of science 1. . He was born at the hamlet of

Woolsthorpe in Lincolnshire in the family of a farmer.

He received his early education at the grammar-school at the same hamlet. On
the 5th June 1661 he left home for Cambridge, 2. . He applied himself
there to the mathematical studies. After a few years he began to make some progress
in the methods for extending the science.

In 1666, the fall of an apple, 3. , suggested the most
magnificent of his subsequent discoveries — the law of universal gravitation.

He accordingly abandoned the hypotheses for other studies. He investigated the
nature of light and was led to the conclusion that rays of light 4. differ also
in refractivity.

Newton became a professor of mathematics in 1669. In 1671 he resumed his
calculations about gravitation. In 1696 he was appointed warden of the Mint and
was afterwards promoted to the office of Master of the Mint in 1699,
5. . He took a seat in parliament in the year 1701 as the representative
of his university.

A mathematical feat is recorded of him so late as 1716 in solving a problem
proposed by Leibnitz for the purpose, as he expressed it, of feeling that pulse of the
English analysts.

In 1699 Newton was elected a foreign associate of the Academy of Sciences.
He died at Kensington on 20th March 1727 and was buried at Westminster Abbey,
6. in 1731.

A. as he walked in the garden at Woolsthorpe

B. an office which he held till the end of his life

C. where he was admitted the same year

D. which differ in colour

E. as he was swimming

F. which were red

H. by the birth of Newton and the death of Galileo

G. where a monument was erected to his memory

WORDS
v hamlet — cenue;
¥" to extend — nommmprosary;
¥’ to abandone — BiAMOBHTHCS, TOKUHYTH;
v" refractivity — 3anomiroBanbHa 31aTHICT.
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ACTIVITY 2. GAP FILL (GRAMMAR)

[0 1. Read the text and complete the gaps (1-12) using the correct answer (A-
D) from the options given below.

THE LAW OF UNIVERSAL GRAVITATION

Newton’s law of universal gravitation 1. in the following manner:
Any two material particles attract each other with a force directly
proportional to the product of their masses and inversely 2. to the square of

the distance between them.
In other words, the magnitude of the force of attraction is expressed by the
formula.

F-—c2
2

where F is the force of attraction, m; and m, are the masses of both particles, r?is
the distance 3. them, and G is the factor of proportionality (the constant
of universal gravitation).

4, the law of equality of action and reaction, the force with
which the first particle attracts the second is equal in magnitude and opposite in
direction to the force with which the second particle 5. the first. Both

of these forces act along a straight line connecting the given particles.

It is evident that the factor of proportionality is numerically equal to the
magnitude of the force of attraction of two particles with masses equal to unity and
at a unit distance from one 6. . The choice of the units of measurements is
arbitrary. The centimeter-gram-second system of units used in physics is not
convenient for the study of the motion of 7. bodies, where mass and
distance are expressed by huge numbers in 8. units.

Gauss proposed to use the semi major axis of the 9. orbit for the
unit of length, the mass of the sun for the unit of mass, and the mean solar day for
the unit of time. By the same token, the numerical value of the constant of
gravitation G is determined (which in physics is designated differently because of
selection of other units).

It is shown in the theory of potential 10. bodies of finite dimensions
attract one another. Formulas derived there find application in theoretical
astronomy when it is necessary to consider the motion of bodies during their
Immediate approach to one another (for example, the periodic Comet Brooks Il
during 11. approach to Jupiter In 1886), but such cases are rarely 12.

In general, however, one may consider that bodies of the solar system attract
one another mutually as material points.

COMMENTS
1. The law of equality of action and reaction — 3akon nii Ta mpotumii (3-i
3akoH HeroToHa).
2. Numerically equal — yrcenbHO piBHUIA.
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3. The semimajor axis— BejuKa IiBBICh.

4. The mean solar day — cepeans consiuna g100a (cepemns 100a).
5. By the same token — 10 Toro sk (kpim TOrO).

A formulates
C formulated

A proportion
C proportional

A between
C among

A Among
C According to

A attracted
C attract

A other
C others

A astronomical
C astronomically

A this
C that

A earth's

C earths
10.

A where

C why
11.

At

Cit’s
12.

A meet

C met

B is formulated
D formulate

B proportionally
D proportionality

B along
Din

B By

D With

B attracting
D attracts

B another
D the other

B astronomy
D astronomic

B these
D those

B earths’
D earth

B which
D how

B its
D its’

B meets
D meeting
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ACTIVITY 3. (MULTIPLE MATCHING)

£ I. Read the texts below. Match choices A-G to the texts 1-5. There are two
choices you do not need to use.

1. LEIBNITZ

Distinguished for almost universal scholarship especially in philosophy and
mathematics Leibnitz was born in 1646 at Leipzig. He invented a calculating
machine and devised what was in many respects a noble method of calculations. This
gave rise to a controversy with Newton as to which of them first invented this
valuable mathematical method. Leibnitz was also a pioneer in the science of
comparative philology.

2. EUCLID

Euclid is known to us almost exclusively from those of his works which have
survived. He lived in Egypt approximately 300 B.C. and taught in Alexandria, he
was the founder of its illustrious mathematical school. His chief extent work is the
Elements in 13 books , which treat of plane geometry, of proportion in general, of the
properties of numbers, of incommensurable magnitudes, of solid geometry. Euclid’s
Elements has been translated into many languages, and is probably better known than
any other mathematical book, with many of its blemishes removed, it is still widely
used in Britain as a text-book of geometry.

3. PYTHAGORAS

Pythagoras is for us at once the glorified and the actual founder of the
philosophical school, he was also a great mathematician who investigated harmonies
and properties of numbers. His attention was turned to the odd and even, to prime
numbers, square numbers and so. The great mathematical discovery of Pythagoras
is of course a hypotenuse theorem, where the square is equal to the sum of two
squares. Various other theorems are closely connected with this cardinal one; they
concern chiefly the squares of the various perpendiculars which may be let fall from
different angles of the right-angled triangle upon the hypotenuse and side.

4. GAUSS

Karl Friedrich Gauss, German mathematician, the author of works on the
theory of numbers and other analytical subjects: Disquisitions Arithmetical. He also
worked with equally brilliant success in the science of geodesy and astronomy. He
published a collection of valuable memoirs on surface geometry. He also studied the
problems arising out of the earth’s magnetic properties. In applied mathematics he
investigated the problems connected with the passage of light through a system of
lenses. Besides the researches already mentioned he wrote works on probability, the
method of least squares, the theory of biquadratic residues, constructed tables for
the conversion of fractions into decimals and of the number of classes of binary
quadratic forms, and discussed hyper-geometric series, interpolation, curved
surfaces, all of which he printed in the seven volumes of his collected works.

5. LOBACHEVSKV

Euclid gave the axiom on parallel lines asserting that there can be only one

parallel to the given line through the point outside that line. It was this theory that
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Lobachevsky attacked. Lobachevsky proved that there could be several parallels -to
the given line through a point outside that line. The revolution in geometry
achieved by Lobachevsky is the most significant example of the radical
transformation which our conceptions of space have undergone. He demonstrated the
need to study the properties of real space experimentally, his ideas exercised a
profound influence in the development not only of geometry but also of other
mathematical sciences, as well as on mechanics, physics and astronomy.

Which of the scientists ?

was buried at Westminster Abbey

is the author of very famous theorem in geometry

was arguing with another scientist who had first invented calculus.

the author of the law of universal gravitation

replaced the postulate of ancient Egyptian mathematics having used
hyperbolic geometry

wrote a lot of books in geometry, which are still very popular all over the
world

G. successfully studied both earth and stars

mooOwr

n

ACTIVITY 4. GAP FILL (GRAMMAR)

L1 1. Read the text and complete the gaps (1-12) using the correct answer (A-
D) from the options given below.

ABOUT COMMON FRACTIONS
,,Fractio” is a Latin word meaning “to break”. When a bone is fractured, it is

broken. Fractions, in arithmetic, are used 1. parts.
Several thousand years before the beginning of our era the Egyptians living in
the valley of 2. Nile River, had a 3. developed civilization.

The fractions which they used were unit fractions. A unit fraction has 1 for its
numerator. When the Egyptians wished to express the quantity which we call 3/4,
they used 1/2+1/4.

The Babylonians, who lived in 4. Asia, thought of the whole as
being broken into sixty equal parts. Each of 5. sixty parts was thought of
as broken into sixty equal parts. These fractions were called sexagesimal fractions,
from “sexaginta” meaning 60. We still use the idea of these fractions in dividing our
hour into 60 minutes and each minute into 60 seconds. The quantity which we call
3/4 would pave been 45/60.

6. used sexagesimal fractions too. They also used unit fractions
which were represented by writing the denominator followed by an accent (). 1/4
would have been written as 4 with an accent after it, thus 4'. 7. they used
fractions which were not unit fractions they 8. the numerator once and the
accented denominator twice. Using then Symbols for 3 and 4 they would have
written 3/4 as 34'4".
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The Romans divided the whole into 12 parts. Englishmen still
Q. one foot into 12 parts or inches. In 10. seventh century of
our era, a Hindu writer used the plan of writing the numerator over the

denominator, 3/4 would then be% )

The Arabs made one more 11 , inserting a bar between the numerator
and denominator, giving us a 12 form for writing fractions%.
1.

A express B expressing

C expresses D to express
2.

A— Ba

C the D an
3.

A high B highly

C highest D higher
4,

A southwest B southwesterly

C southwestern D southwestwards
5.

A this B these

C that D those
6.

A The Greeks B Greeks

C The Greek D Greek
7.

A Where B Why

C How D When
8.

A write B wrote

C written D have written
9.

A divide B divided

C divides D dividing
10.

A— Ba

C the D an
11.

A change B changing

C changes D changeable
12.

A presenting
C present

B presented
D presents
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ACTIVITY 5. (GAPPED TEXT)

[ 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6). There are two choices you do not need to use.

A little more 1. our mechanical development had its beginning
when the first prime movers were invented and developed. With the development
of machines came the development of mechanics to fabricate the parts, to assemble
them into the finished articles, and to run these machines. 2. has been
marvelous, the accuracy of workmanship of today being easily two hundred times
that of a century ago, and the speed of manufacture probably much more than this.
3. one industry has helped to develop another, until today the mines
produce ore in large quantities to supply the iron, copper, and other metals; the
great steel mills supply the raw or fabricated material; the foundries and forging
shops fashion the many castings and forgings for the intricate machine to be built;
the immense shops machine the parts and assemble them for the market.
Everywhere we turn, we find a manufactured article which has experienced these
various changes from raw material 4. :

“Production” methods have enormously increased the output of our shops,
and the machines which have made this development possible are of a diversified
character speed lathes, planers, multiple drillers, grinders, milling machines,
stamping machines, die presses and the jigs, tools 5. . All of these have
contributed to the accuracy and speed of manufacture. The demands of the railroad
industry have done wonders in hastening this development as the manufacture of
the parts in duplicate was absolutely necessary in order to 6.

A. to finished product

B. at last

C. which go with them

D. since that time

E. than a century ago

F. cheapen the price of the assembled machine

H. the evolution of both machines and mechanics

G. in the absence of

ACTIVITY 6. GAP FILL (GRAMMAR)
[ 1. Read the text and complete the gaps (1-12) using the correct answer (A-
D) from the options given below.

HOW DO WE TURN WASTE INTO ENERGY?
They say one man's trash is another man's treasure — that's exactly the case
when it comes to waste energy
In 2014, the UK generated 209 million tons of rubbish. Of that, 44.9 per cent
1) (including recycling and energy recovery) and 23.1 per cent was
sent to landfill. We are 2) searching for a more efficient and beneficial
way to dispose of our waste.
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As well as diligently recycling our rubbish, waste-to-energy plants provide
one alternative to landfill the waste is disposed of and 3) provide energy to
produce fuel and electricity. There are 4) different ways that can be done
using thermal energy and biological processes. Thermal processes involve methods
like gasification, thermal depolymerisation and pyrolysis; all rather complex
procedures that essentially use the application of high temperatures 5) the
waste and release energy. The non-thermal waste-to-energy processes use
microorganisms to decompose organic matter and release biogas. These processes
often take much longer but 6) much more eco-friendly.

The advantages of waste-to-energy technology 7) that less waste gets
sent to landfill. This means less methane — a damaging greenhouse gas - is
produced from decomposing rubbish and less leachate (which pollutes
groundwater) leaks from the site. 8) advantage is that more energy can be
created without burning fossil fuels and releasing greenhouse gases. However,
despite the advantages, there are also 9) serious environmental concerns.

The burning of so much mixed waste can release harmful chemicals, 10)

dioxins and furans (carcinogens released 11) plastics such as PVC) as
well as heavy metals, acidic gases, sulphur and nitrogen oxides and particulate
matter. Although there are many pollution control processes in effect, not enough
is yet known about the extent of the chemicals released and 12)  impact on the
environment and human health.

1.

A Is recovered
C was recovered

B are recovered
D recovered

2.
A constant B inconstant
C constantly ¢ D inconstantly
3.
A use B used to
C using D used
4,
A few B little
C afew D a little
5.

A break down
C breaking down

A considering

B to break down
D broke down

B considered

C considere D are considered
7.

Ais B was

C are D were
8.

A Another B others
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C other D the others
9.

A some B none

C any D anything
10.

A S0 as B such a

C as so as D such as
11.

A by burn B by burning

C burning D burnt
12.

A their B there

C theirs D them

ACTIVITY 7. (GAPPED TEXT)

1 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6). There are two choices you do not need to use.

HOW DO RECHARGEABLE BATTERIES WORK?

All batteries rely on chemical reactions 1) . Inside a battery are two
electrodes made of different sorts of metal, named an anode and a cathode, and an
electrolyte, often an acid. Chemical reactions between the electrodes and
electrolyte create a flow of electrons from anode to cathode 2) — an
electric current.

In the process the electrodes and electrolyte gradually become depleted
3) . In a non- rechargeable battery this reaction is irreversible, and the
battery will eventually stop working. 4) an electric current is passed
the opposite way through the battery. This reverses the chemical reaction and
rejuvenates the electrodes and electrolyte to a state 5) . However, even
a rechargeable battery can only be recharged a certain number of times
6) :

A) before it can no longer hold a charge;

B) when the battery is connected,

C) when a rechargeable battery is charging;

D) to produce an electric current;

E) before you could check your battery;

F) where they can once again produce electricity;
G) as they react with each other;

H) when recharging it.
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ACTIVITY 8. GAP FILL (GRAMMAR)

1 I. Read the text and complete the gaps (1-15) using the correct answer (A-
D) from the options given below.

HOW ARE DIGITAL IMAGES CAPTURED?

How a camera converts light into photo files on a memory card.
With the simple click of a button, a digital camera 1) light into data. 2)
process starts with the image sensor, which is a silicon chip 3)
as a CCD or CMOS. When light enters the camera lens, it is focused onto
the sensor and dislodges 4) of the electrons in a tiny area of the silicon
(known as a pixel), 5) creates an electrical charge. The brighter the light
in that part of the image, the 6) the electrical charge that is created at that

spot on the sensor.

On 7) own, the sensor is colour-blind. To produce a colour image,
red, green and blue filters are used to detect 8) primary colour of light.
There are 9) methods of doing this, but the most simple involves a mosaic
of coloured filters laid over the sensor. Each site on the sensor can 10) the
amounts of red, green and blue light passing through a set of four pixels on the
mosaic. The colour intensity at each pixel is averaged with the neighbouring pixels
to recreate the true colours of the image using special algorithms that run 11)
the camera’s Central Processlng Unit (CPU).

Each pixel needs some circuitry around it to allow electrical charges 12)

and read. The light that falls on this part of the sensor chip is lost, so

some cameras use a grid of microscopic lenses that funnel 13) light to the
centre of the pixels and away from the support circuitry.
The basic image data 14) then further processed to remove digital

noise, correct for shadows cast by the camera lenses, and eliminate the flicker
caused by artificial lighting. This data is then assembled into a format that can be

read 15) other computers and written to the SD card as a JPEG file.
1.
A turn B are turning
C turns D turned
2.
A this B that
C these D those
3.
A knowing B known
C to know D know
4,
A none B any
C anyone D some
5.
A where B whose
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C which D who
6.

A the strongest B stronger

C strong D strongest
7.

Ait’s B it

Cits’ D its
8.

A every B each

C everyone D each one
Q.

A afew B little

C few D a little
10.

A to record B recording

C record D recorded
11.

Aon Bin

C with D through
12.

A amplified B to be amplified

C be amplified D amplifying
13.

A more B much

C most D the most
14,

A was B are

C were Dis
15.

A by Bin

C with D through

ACTIVITY 9. (MULTIPLE CHOICE)
[0 I. Read the text below. For questions (1-4) choose the correct answer (1-4).

HOW DO WRISTWATCHES TICK?

Keep time with the springs and gears of a mechanical watch

Before you could check your smartphone, and even before quartz batteries, a
personal timepiece was a valuable commodity. There are two types of mechanical
watch: a hand-wound watch and an automatic or self-winding watch.

Although the starting mechanisms are different, the movement inside is
essentially the same. It all comes from the back and forth motion of the mainspring
- this is a tightly coiled and precisely measured spring, wound into a perfectly
weighted cog known as the balance wheel.
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This wheel is able to move back and forth because it's helped by another
series of cogs that transfer energy from the winding pin all the way to the balance
wheel. This usually involves three cogs, and these correspond to the hour, minute
and second hands on the face. When the second hand makes a complete revolution,
the minute hand has moved one graduation, and so on.

When each of the cogs turns the next, the last one in the chain moves what is
known as the escape wheel. This wheel has large teeth on it, shaped so that it jogs a
piece called the pallet fork into motion, which then in turn moves the balance
wheel. As the balance wheel swings back, the other side of the pallet fork knocks
the balance wheel again, and so a back-and-forth swing motion continues,
ultimately helping the watch to keep perfect time.

1. Which of the following statements are NOT mentioned in the text?
1) There are two types of mechanical watch.
2) The movement inside is essentially not identical.
3) The wheel shifts energy from the winding pin.
4) The pallet fork knocks the balance wheel.

2. The escape wheel has....
1) large teeth;
2) pallet fork;
3) minute hand;
4) moving chain.

3. The minute hand moves one graduation when...
1) the balance wheel swings back.
2) the balance wheel swings forward.
3) the second hand makes a complete revolution.
4) the hour hand makes a complete revolution.

4. A back-and-forth swinging of the balance wheel helps...
1) to keep perfect time.
2) to transfer energy.
3) to keep the balance wheel.
4) to move one of the hands.

ACTIVITY 10. GAP FILL (GRAMMAR)

[ 1. Read the text and complete the gaps (1-12) using the correct answer (A-
D) from the options given below.

HOW DO INDUSTRIAL ROBOTS WORK?
Inside the factories where no one gets tired, sick or even paid
Ninety per cent of all the robots in the world 1) in factories. The
availability of cheap human labour in China and the Far East hasn't slowed down
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the march of machines, and sales of industrial robots are in fact growing 2)
in China than any where else in the world.

Robots were first put to work in 1961, 3) General Motors installed
Unimate. This was a 1.8-ton, die-cast robot arm that dealt 4) red-hot, metal
car door handles and other parts — dangerous and unpleasant work for humans.
Unimate followed instructions stored on a magnetic drum (the forerunner of
today's computer hard disks), and 5) be reprogrammed to do other jobs.
When Unimate robots took over the job of welding car bodies in 1969, the GM
plant in Ohio was able to build 110 cars an hour — twice 6) any factory in
the world at that time.

Modern industrial robots 7) evolved from using clumsy hydraulic
pistons to much more precise electric motors for each joint. Sensors on each one
detect an LED light shining through a disc with slots cut into it. As the slots

interrupt the light beam, they send a series of pulses to the 8) CPU that
tells it precisely how far the arm has moved. Cameras mounted on the end of each
arm use sophisticated image-processing software that 9) them to identify

objects, even if they are upside down or rotated on the conveyor belt, 10)
ultrasound proximity sensors prevent the robots from striking obstacles in their
path.

Even with all this 11) , Industrial robots are so strong and move so
quickly that it has always been dangerous for humans to share an assembly line
with them. But the latest machines have joints driven by springs, which are
tensioned by motors, instead of motors driving the arm joints directly. 12)
absorbs the force from an accidental knock, and enables the robot to react in time
to avoid an injury.

1.
A lives B live
C lived D living
2.
A fastest B the most fastest
C faster D fast
3.
A where B whose
C which D when
4,
A with B up
Con D by
5.
A can B must
C could D may
6.
A as well as B as fast as
C as soon as D as far as
7.
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A has B had

Cis D have
8.

A robot’s B robots

C robot D robots’
9.

A allow B allowed

C allows D allowing
10.

A where B while

C which D how
11.

A sophistic B sophisticate

C sophisticated D sophistication
12.

A those B this

C that D these

VOCABULARY PRACTICE

A. Fill in the correct word from the list below:

Aristotle, dropped, inconsistencies, measured, friction, acceleration, paradox,
proportionately, velocities, observations.

In the absence of 1).................. , all bodies large and small fall with the
same 2).......oeeuvennnn. This law of falling bodies is a physical 3)................. for it
contradicts the conclusion a person may come to form general 4)..................
There is nothing to wonder at, for centuries ago the great philosopher

5)iiiin... taught that heavy bodies fall 6).................. faster than lighter bodies.
Later Galileo found apparent 7)...................... in Aristotle’s teaching. He
8) i various kinds of objects from different levels of the leaning
tower of Pisa and timed their falland 9) ................ their 10)....................l.

B. Fill in the correct word from the list below:

Warm, animals, enjoying, use , need, growing, food, a forest, motion, fundamental.

1) is everywhere: friendly and threatening, terrible and
beautiful. It is 2) to our human existence. We need motion for
3) , for learning, for thinking and for 4) life. We
5) motion for walking through 6) , for listening to its noises
and for talking about all this. Like all 7) , we rely on motion to get
8) and to survive dangers. Like all living beings, we 9) motion
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to reproduce, to breathe and to digest. Like all objects, motion keeps us
10)

C. Fill in the correct word from the list below:

Melting, tree, motion, freezing, life, another, instrument, people, cooking, such.

The only type of change we call 1) in everyday 2) IS
material transport, such as a person walking, a leaf falling from a 3) ,ora

musical 4) playing. Transport is the change of position or orientation of
objects, fluids included. To a large extent, the behaviour of 5) also falls
into this category.

6) category of change groups observations 7) as the
dissolution of salt in water, the formation of ice by 8) | the rotting of wood, the
9) of food, the coagulation of blood, and the 10) and alloying of
metals.

D. Choose the synonym:

1) sufficiently a) call

2) laziness b) support

3) referto as c) enough

4) glance d) unwillingness

5) maintain e) take a quick look

6) view f) pause

7) halt g) opinion

8) evident h) clear

E. Find the opposite word:

1) rest: a) inertia b) motion c) force d) weight;
2) fast: a) quick b) inert c) slow d) sufficient;
3) low: a) clear b) high ¢) good d) very;

4) rough: a) quick b) ready ) smooth d) low;

5) imaginary: a) interesting  b) real C) such d) catching;
6) tiny: a) large b) small c) fine d) black;
7) decreasing:  a) falling b) increasing  ¢) continuing  d) moving.
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CHAPTER I11. TEXTS IN INFORMATION TECHNOLOGY
ACTIVITY 1. GAP FILL (GRAMMAR)

[0 1. Read the text and complete the gaps (1-10) using the correct answer (A-
D) from the options given below.

EVERYDAY USES OF COMPUTERS

Computers are different: they are general purpose machines. By changing the
program instruction, computers can 1. to process information in very
different ways. For example, a word processor program allows the computer
2. text, a spreadsheet program enables the computer to perform
calculations, a database program is used for searching and sorting records, and a
browser program is used for 3. pages on the Internet. Computers are
therefore used in almost every type of work and are found almost 4.

Computer equipment is known as hardware and programs and data
5. called software.

A variety of devices can be attached to a computer. Input devices are used to
enter data into the computer for processing. 6. input device called a magnetic
ink character reader (MICR) is used to read characters printed using magnetic ink.
Magnetic ink characters are commonly found on bank cheques.

An optical input device called a barcode reader uses the 7. of a light
beam to read a sequence of printed parallel bars called a barcode. The bars are of
8. thickness, and each sequence of bars 9. a different number

according to a standard code. Barcode labels are used to code items. Each item can
be identified by a computer using a barcode reader to scan the labels. Barcodes are

used in industry, shops, and supermarkets for stock control and to 10. a
computer to look up the price of items being purchased.
1.

A used B use

C be used D uses
2.

A to process B processing

C process D processed
3.

A looking at B look at

C to look at D to looking at
4,

A anywhere B everything

C everyone D everywhere
5.

Ais B was

C are D were
6.
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AA B the

C An D -
7.

A reflecting B reflection

C reflect D reflected
8.

A differ B differential

C different D indifferent
9.

A represent B represents

C represented D representing
10.

A allow B let

C make D do

L 11. Match the words (1-8) with their definitions (a-h)

1. aword processor program a) is used for searching and sorting records
2. a browser program b) Computer equipment
3. adatabase program c) programs and data
4. aspreadsheet program d) allows the computer to process text
: e) to enter data into the computer for
5. hardware is known as .
processing
6. software is Known as f) enables_the computer to perform
calculations
7. Input devices are used g) is used_to_ read characters printed using
magnetic ink
8. a magnetic ink character reader  h) is used for looking at pages on the
(MICR) Internet

ACTIVITY 2. (GAPPED TEXT)

1 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6) There are two choices you do not need to use.

PROGRAM VIRUSES

Program viruses are blocks of program code, that were expediently
inculcated in other application programmes. On the infected programme activation
the virus code inculcated in it also becomes active. This code activity leads to
concealed file system modifications of hard disks and/ or in the core of other
programmes. For instance, a virus code can reproduce itself in the bodies of other
programmes — this process is called 1. . In some time, having created
enough number of copies, the program virus can start its destructive actions —
erasing of the information stored at the hard disk. This process is called
2.
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The most destructive viruses can cause hard disk formatting. As the process
of hard disk formatting is rather long-lasting to be unnoticed by the user, in many
cases program viruses stop at erasing the data only in hard-disk system sectors,
that equals to the loss of file structure tables. In such case the data on the hard disk
is left without any modification, but it is impossible to use until special methods
are applied, as the correspondence between the disk sectors and the files is
unsettled. Theoretically to rebuild the data in this case is possible, but
3. of this work is extremely high.

It is considered that there is no such kind of a virus that can put out of action
the computer hardware. But there are cases when the software and the hardware
are connected in such a deal that program wreckage has to be cured by the
hardware changing only. For instance, in many contemporary system-boards the
basic system of input-output (BIOS) is kept in rewritable permanent memory
devices (4. ). The possibility to rewrite information in flesh-memory
microscheme is used by some program viruses to destroy the BIOS data. In this
case, to repair your computer, you have either to change the microscheme or to
reprogram it with the help of special devices called 5.

Program viruses get on your computer when programs were made to run up
without being checked first; these programs may either be received from an outer
holder (a floppy disk, a compact disc and so on) or from the Internet. When you
simply copy the infected programmes, your computer can't be infected. According
to this all the data received from the Internet must be checked for security, but if
some unknown data from an unknown source has been received, you should
6. . The common way of spreading Trojan programmes is an
application to an electronic letter with the recommendation to take out and run a
supposedly useful programme.

A. so called flesh-memory

B. destroy it without looking through
C. virus attack

D. the labour-intensiveness

E. to install it

F. reprogrammators

G. in the absence of

H. propagation

ACTIVITY 3. (MULTIPLE MATCHING)

3 1. Read the texts below. Match choices A-G to the texts 1-5. There are two
choices you do not need to use.

THE MEANS OF ANTI-VIRUS SECURITY
There are rather many program means of anti-virus security. They give the
following opportunities.
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o0 >

E.
=5

G.

Creation of a hard disk image on outer holders. In case of data wreckage
in hard disk system sectors, the ,,saved image” of the hard disk may let to
be reconstructed if not the whole data, but its main part. The same means
may help to prevent data loss in cases of hardware work faults or careless
hard disk formatting.

Regular hard disks scanning in order to detect computer viruses. Such
scanning is made automatically every time the computer is switched on
and an outer disk is placed in the reading device. When scanning one
should mind that an anti-virus programme searches viruses by
comparing the codes of the computer programmes with the codes of the
viruses known to it, which are collected in its data base. If the data base
IS out of date and a virus is new, the scanning programme won’t find it.
To make its work more reliable one should regularly renew the anti-virus
programme.

Periodical renovation is desirable to be performed once in a fortnight; it
is also admissible to make it once in a quarter. For instance, we’ll point
out that the destructive after-effects of virus W95.CIH. 1075
(,,Chernoby!™) attack that led to the information erasing on hundreds
thousands of computers on April, 26, were connected not with the lack
of security means, but with a long delay (more then a year) in these
means renovation.

Control over size and other file attributes changes. As some computer
viruses at the stage of their propagation change the parameters of the
infected files, a control program can discover their activity and warn the
user.

Control over hard disk applying. As the most dangerous operations,
connected with the computer viruses activity are in any case aimed to
modification of the data collected at a hard disk, the anti-virus
programmes can control the applies to the hard disk and warn the user
about the suspicious activity.

. May be useless when a new virus appears.

Destroy it without looking through.

. One of the signals is changing the file size.

. Data collected on the hard disk is the main goal of all viruses.

Creating copy by using the external media can help you to save the data.
A regular update can save your computer.

Unplug the computer.
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ACTIVITY 4. (GAPPED TEXT)

L1 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6) There are two choices you do not need to use.

INFORMATION SECURITY IN INTERNET

Working in Internet one should take into consideration that the resources of
the World web are as much open for every customer, as the resources of his
computer system may, in some cases, be open to everyone 1.

For a private user this factor doesn’t play any special role, but one should be
informed about it be able to prevent actions breaking the law of those countries,
2. . To such actions we refer deliberate and undeliberate attempts to break
the labour-intensiveness of computer systems, attempts to break into protected
systems, using and propagating of computer systems labour-intensiveness
breaking programmes (computer viruses in particular).

Working with the World web one should remember 3. by special
software and the information both about legal and illegal actions is inevitably
collected. That’s why the information circulation in Internet should be treated as
usual correspondence with the help of post-cards.

But even in common post correspondence besides post-cards, post envelopes
are also used. The usage of the envelopes doesn’t mean that partners are eager to
conceal something. Their usage corresponds to a long-lasting historical tradition,
4. . The need of such ,,envelopes” for information security also exists in
Internet. Nowadays Internet is not only the means of communication and the
universal enquiry system — contract and financial obligations also circulate there,
so the necessity to protect them both from looking through and from falsification
IS obvious.

Information is a product of reciprocity between the data and the methods
corresponding to it. If during the process of communication data is passed through
open systems (5. ), the access of unauthorized persons to it can’t be
denied 6. . According to this, security systems work with the second
component of information — its methods. The principle of their work is based on
abandoning the possibility of finding the appropriate method of converting data
into information. One of the methods of such security is data enciphering.

A. whose territory the Internet servers are situated on
B. even theoretically

C. which provides a range of different services

D. who has necessary means in his possession

E. that all the actions are fixed and added to protocols
F. Internet refers to these systems

G. moral and ethic norms of communication.

H. that is known as the Internet.
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ACTIVITY 5.

[0 1. Read the text and choose the right option.

A graphics package is used for creating a rid editing graphical images or
drawings. This type of program usually has a set of icons called a toolbox to access
the most commonly used graphics tools. It allows users to perform functions, such
as creating shapes, scaling them to different sizes, rotating them, and filling them
with colour. Simple drawings can be created using a combination of pre-defined
shapes such as squares, rectangles, triangles, and ellipses.

Multimedia is a combination of text, graphics, animation, sound, and video. A
popular multimedia encyclopedia program created by the Microsoft Corporation is
called Microsoft Encarta. The text displayed on the screen contains hyperlinks, i.e.
words that are linked to other text. When the user clicks on a link, the linked text
is displayed on the screen. Encarta also has icons for displaying maps, charts,
tables, pictures, sounds, animation, videos, and interactive activities.

Computers are general purpose instruments that are controlled by programs.
Present-day computers are electronic devices but the first computers were
mechanical. They were replaced by electro-mechanical computers that used
electrical mechanism. The first electronic computers used electronic switches in
the form of vacuum tube valves. Valves were later replaced by semiconductor
transistors. The development of integrated circuits that contained millions of
transistors in one small semiconductor chip enabled the development of
microprocessors. This allowed much smaller computers, called microcomputers, to
be introduced. The most common type of microcomputer is small enough to sit on
an office desk and is often referred to as a desktop computer.

1. A graphics package can be used for creating
A. acylinder
B. a text
C. achart
D. an image
2. When the user clicks on a link
A. they can watch a film.
B. they can listen to a music
C. they can read the linked text
D. they can create a new link
3. The first computers were
A. electrical
B. mechanical.
C. electro-mechanical
D. electronic
4. Electronic switches used in the first electronic computers were in the form of
A.vacuum cleaners
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B. semiconductor transistors
C. tubes
D. vacuum tube valves

5. The text is about
A. the origin of computers.
B. graphics and multimedia
C. modern computers
D. anti-virus security

ACTIVITY 6. GAP FILL (GRAMMAR)

L1 1. Read the text and complete the gaps (1-12) using the correct answer (A-
D) from the options given below.

THE INTERNET: THE WORLD WIDE WEB

The connection of networks 1. the world forms the Internet which
provides a range of different services, such as email, newsgroups, and file transfer.
One of 2. and most popular services on the Internet is the World Wide Web
which is commonly referred to as the Web, or simply as WWW.

A web browser program 3. a graphical user interface for the Internet
allowing users to view linked documents called webpages. 4. a user
clicks on a webpages link, or hyperlink, the browser fetches and displays the linked
webpage. Linked webpages may be stored on different servers in different parts of
the world. A set of hyperlinked webpages is known as a website. Websites are
available for an enormous range of topics, 5. news, sports, entertainment,
education, and sale of goods.

Because there are 6. websites on the Web, it is often difficult to find
the information you are 7. . Special websites have been set up that use
programs called search engines to search the Web for the information you need.
Normally, you fill in a form on a search webpage to indicate 8. you are
looking for and then click a search button to start the search engine. After
0. the Web, it displays a webpage with hyperlinks to the websites that
contain the information you are looking for. When you want to return to the
webpage, you only need to 10 the appropriate bookmark.

Each webpage 11. a unique web address 12. known as a
uniform resource locator (URL). Web addresses often start with http:// www, and
each part of the web address is separated by a dot (.) or a slash (/). Http stands for
hypertext transfer protocol, which is the standard way of communicating on the
World Wide Web.

1.
Ain B throughout
Con D along
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A new B newer
C newest D the newest
A provide B provides
C provided D providing
A Where B Why
C When D Which

| A including B include
C included D includes
A so any B such
C so many D such many
A looking for B looking after
C looking at D looking through
A where B who
C which D what

| A search B searches
C searching D searched
.A click on B click at
C click in D click up
A have B has
C haves D had
A anytimes B somewhere
C sometimes D someone

ACTIVITY 7. (GAPPED TEXT)

[ 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6) There are two choices you do not need to use.

THE INTERNET: EMAIL AND NEWSGROUPS

1. the combined network is called an internetwork or
internet. The connection of networks throughout the world forms what is known
as the Internet.

Networks all over the world are connected to the Internet 2. .The
routers decide which route on the Internet a particular signal should take to get to
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its destination. Users often pay a monthly fee to a type of company known as an
Internet service provider (ISP), 3. . A variety of services such as email
and file transfer are made available to users on the Internet. These services are
controlled using a system of server computers at various locations throughout the
world.

Electronic mail, 4. , Is one of the most popular services on the
Internet. Email allows users to send electronic messages to storage areas known as
mailboxes on server computers 5. . Each user has their own email

address which determines where their email message stored. Every email address
has two main parts separated by an ampersand symbol, i.e. Username @ domain
name. The domain name may be subdivided using dots.

An email message has two main parts known as the header and the body of
the message. The body contains the message itself, whilst the header reveals the
identity of the recipient and of the sender, the date it was sent, and the subject title
of the message. Email consists of plain text but other types of computer files, such
as formatted text, spreadsheets, sound files, or video files can be attached to email
messages. These email attachments can then be opened and read
6.

A. whose territory the Internet servers are situated on
B. using electronic devices known as routers.

C. using an appropriate program on the recipient’s computer.
D. which has come to be known as email

E. where they can be read by other users

F. When different network are connected together,

G. to provide them with an Internet connection

H. that is known as the Internet.

ACTIVITY 8. GAP FILL (GRAMMAR)

1 1. Read the text and complete the gaps (1-8) using the correct answer (A-D)
from the options given below.

WHEN A COMPUTER ERROR IS A FATAL MISTAKE

Life without computers has become 1. . They are designed to look
after so many boring but essential things that we have become depended
2. them. But 3. the demands placed on computers grow, so does the
number of incidents involving computer errors. It is only a matter of
4, before a computer- made catastrophe occurs. As early as 1889, a word
entered the language that was to become all too familiar to computer scientists: a
,,bug”, meaning a mistake. For decades bugs and ,,debugging” were taken to be
part of every computer engineer’s 5.

Of course, more often than not errors are 6. annoying, but sometimes
they can come close to causing tragedies. On the P Picadilly line in London’s
Underground a driver who was going south along a track got confused while
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7. his empty train through a cross-over point. He started to head north
straight at a south bound train full of people. The computerized signaling system
8. to warn him of impending disaster and it was only his quick human

reactions that prevented a crash.

1.
A elementary
C unimaginable

A over
C with

A however
C no sooner

A fact
C necessity

A job
C necessity

A not
C not only

A move
C moving

A managed
C signaled

B tireless
D trivial

B on
Din
B in the meantime
D as

B time
D place

B tragedy
D action

B just
D absolutely

B to move
D moved

B failed
D succeeded

I1. For questions (1-5) choose the correct answer (A, B, C or D).

1. Which of the following is not true?

A) Try as you might, you can hardly manage without computers in modern

world.

B) No matter how boring computers might be, their demands grow.
C) Sooner or later, the number of incidents involving computer errors is

expected to increase.

D) In the course of time computers are supposed to do more and more

demanding job.

2. In the faraway year of 1889 the word “bug”:

A) appeared in the language.
B) was used by mistake.

C) and “computer” were synonyms to computer scientists and entered their

language and life.
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D) familiarized computer scientists with “de-bugging”.
3. What kept the catastrophe in the subway from happening?
A) The driver’s prompt actions.
B) The computerized signaling actions.
C) The fire brigade.
D) Signals of the driver.
4. What title could you give to the story?
A) When a computer error is a fatal mistake.
B) Growing demands on computer errors.
C) Annoying bugs.
D) De-bugging in London Underground.
5. The word impending means:
A) crashed.
B) reasonable.
C) looking forward.
D) approaching, going to happen.

ACTIVITY 9. (MULTIPLE MATCHING)
[0 1. Read the text below. Match choices (A-H) to (1-5). There are three

choices you do not need to use.
WHY CLOUD?

Why should you use a cloud computing solution when having your own in-house
IT setup is the more traditional way? What is it that makes using a cloud provider

more sense in today's interconnected world?

1. Cloud based solutions are incredibly elastic in their design They can grow as

your business needs increase and they can be scaled back should your
requirement lessen Its this level of operational ability, or elasticity, that
makes a cloud solution perfect for the business and consumer IT model

2. Although there are incidents of cloud hacking, keeping data in the cloud is

regarded as being far more secure than having the data available locally.
Lost laptops, USB flash drives hard drives recovered from old computers
can all be a huge security risk, with each containing data, bank details and
images

3. As long as a worker or individual has access to the Internet, then they are

able to access the cloud solution behind the company. This means you can
utilize expertise from around the world, without the expense of relocation.
Home users can also upload images and documents from any Internet
capable device

4. When you have umpteen users all working off a single document, you

eventually come across conflicting copies and formats By using a cloud
model, document control is kept in line by all users working from a single,
stored document source. In addition, the digital storage cost of multiple
documents emailed to and from users is drastically cut down
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5. Cloud computing is a pay-as- you-go model in that you simply invest in
what you need at that part.cular point. Using this in conjunction with the
elasticity of a cloud means that you pay for more services or storage as you
and your business grows.

A) Automatic updates

B) Security

C) Flexibility

D) Access from anywhere
E) Reduced costs

F) Document control

G) Disaster recovery

H) Collaboration

ACTIVITY 10. USE OF ENGLISH. GAP FILL (GRAMMAR)

L1 1. Read the text and complete the gaps (1-12) using the correct answer (A-
D) from the options given below.

WHAT IS COMPUTING?
The way we use technology 1) . It’s an evolution of how and
where we access our private, personal and work related data. From the earliest days
of the home computer, accessing data and entertainment from cassettes, to the rise

of the Internet and terabytes of storage, technology 2) the way we interact
with the world around us.

One 3) form of this technological evolution is the cloud. The cloud
is a term 4) often without knowing exactly what “the cloud” is, what it
does, how it 5) and what it can offer both the home and business user.
The cloud offers many great benefits for those 6) use it. Storage, email,
development collaboration, sharing, streaming, the list goes on. We look 7)

better ways for you 8) the cloud into your business or lifestyle, and
even how you can 9) about creating your own personal cloud.

The future of work and entertainment 10) in the cloud.

1.
A is changing B change
C are changing D changed
2.
A have revolutionized B revolutionized
C has revolutionizing D has revolutionized
3.
A particulars B particularity
C particularly D particular
4.
A use Buses
C used D is used’
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5.
A work B worked
C works D working
6.
A who B why
C whose D where
7.
Aon B to
Cat D after
8.
A implement B to implement
C implemented D to implementing
9.
Atogo B went
Cgo D gone
10.
Alie B to lie
C lies D lay

ACTIVITY 11. (GAPPED TEXT)

L 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6). There are two choices you do not need to use.

HISTORY OF CLOUD
The considered and accepted evolution of the cloud, from concept to daily
use starts as far back as the 1950s. According to popular myth. John McCarthy, the

computer scientist 1) , dreamed up the concept of computing time sharing
In those days computing 2) , S0 McCarthy came up with the idea of
renting time-shared computing resources to companies 3) . This is regarded

as the beginning of the cloud concept.

IBM developed its mainframe Virtual Machine Facility/370, system in 1972.
Using the Hercules Emulator program, scientists were able to access the VM/370
in multiple virtual machine states all from a single system.

J.C.R Licklider developed ARPANET (Advanced Research Projects Agency
Network), a network that eventually became 4) . Using McCarthy's initial
concept Licklider s vision was "for everyone on the globe to be interconnected and
accessing programs and data at any site, from anywhere"

Throughout the 1980s the home computer boom and improved
communications technology saw consumers and business users accessing remote
resources via 300 bits-per-second modems.

The Internet grew exponentially throughout the 90s. As a result, the first
instance of the term «cloud computing» was used 5) It was in a 1996
presentation entitled Internet Solution Division Strategy for Cloud Computing'.
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In 1999 the cloud computing concept began in earnest, used the now
maturing Internet to offer shared sales information for a company, along with
collaboration, storage and reporting through a web-based portal.

Google's growth and domination of the Internet saw the company release its
Google Apps cloud-based services in 2006. Later, in 2011, Apple announced its
own cloud storage solution, Apple Cloud and in 2012 Google Drive was launched,
bringing together all the cloud definitions under a single service.

Another major milestone in the cloud's history was the launch of Amazon
Web Services in 2002. It was easily expanded, offered storage, computation and
virtualization

The use of more powerful mobile devices, better net-works and faster access
to the Internet has resulted 6) . It is estimated that at the end of 2016,
money spent on cloud services was in the region of $1.4 trillion and that growth
isn't looking to slow down anytime soon.

A) who couldn't afford the technology.

B) by a group of Compaq Computer engineers.

C) who coined the term ‘artificial intelligence.’

D) cost millions of dollars.

E) the basis of the Internet.

F) this service provided.

G) in a huge cloud boom in recent years.

H) while an excellent benefit.

ACTIVITY 12.

L1 1. Read the following text and give the appropriate headline.

***%k

Despite the technology being relatively new, the name Bluetooth actually
has medieval origins. It was chosen by the largely Scandinavian team of engineers
that created the wireless communications technology back in the 1990s, and is the
English translation of the name of a Viking king.

When looking for a name that signified their new invention’s ability to
connect PCs and cellular phones, the team thought of King Harald Blatand of
Denmark, who was famous for uniting parts of Denmark and Norway with non-
violent negotiations. The name’s origins are also evident in the Bluetooth symbol,
as it is king Blatand’s initials written in Norse runes.

[ 11. Give the synonyms to the words.

v medieval mobile

v/ origin emblem

v team old-fashioned
v wireless obvious

v ability outstanding
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v cellular joint / link

v’ famous without cable

v’ unite capacity

v' evident root

v symbol company
ACTIVITY 13.

1 1. Read the following text and give the appropriate headline.

**k*k

When you delete a file on a computer you probably think it’s gone forever,
but it’s not. Deleting a file just removes the label that tells the computer the file is
there. All the data that used to be part of the file will still be able to be found
somewhere on your hard disk.

It’s a bit like taking the cover off a book, but leaving all the pages behind —
the book may be gone, but the information is ultimately still there. The file only
really gets erased when the computer eventually stores something new where the
old file used to be on the disk.

[ 11. Give the synonyms to the words.

v delete erase

v' probably perhaps

v label tag

v’ cover coat

v ultimately yet

v’ remove transfer

v eventually finally

v old ancient

v forever always
ACTIVITY 14.

1 I. Read the following text and give the appropriate headline.

**%x

1) The internet is very much influenced by what is happening outside of the web.
It's people that build websites and people always want information, people
always need to go shopping, people will always need to go to the bank, people
will always want to stay in contact — the web provides the ideal platform to
replace more traditional services.

2) A well-conceived website is not only aesthetically pleasing, but also works
under the hood as well. Soul Media (www. soulmedia.com.au) is a Melbourne-
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based digital agency that has put together a striking and well-constructed site
that demonstrates the traits of good design.

3) This site itself uses the popular one-page scrolling design. This negates the need
to link to other pages and wait for them to load. It is simply a matter of scrolling
down the page or using the fixed position menu to jump, in an elegant manner,
to the requested section. The fixed nature of the navigation system means that it
is always visible and ready to use.

4) Facebook is a huge social networking site and epitomises what people like to do
on the web — stay in contact and tell others what they are up to.

5) YouTube allows web users to stream and watch videos from a vast library of
variety. Sitting along the same lines are services such as Netflix and LoveFilm,
which take the online streaming and viewing experience to a new level. Google,
a service that nearly everyone in the world has heard of, presents a different tool
for the web, but search engines are keys to finding websites.

6) Blog sites can be bland and boring. But there are hundreds, if not thousands, of
blogs that have stepped outside the standard template to bring a splash of
creativity and originality. Eltoria (www. eltoria.com) is an award-winning blog
that is run by Simone Partner a 23 year old law graduate from the University of
Reading who lives near Bath. The purpose of the blog is to express Simone's
interests and talk about some of the amazing brands she has worked with..

£ 11. Read the texts above. Match choices A-H to the texts 1-6. There are two
choices you do not need to use.

A It gives possibility to stream.

B What makes a good site?

C What makes a good blog?

D This website is fast and doesn’t need any connections.
E This site demonstrates what websites are used for.

F This blog is run by an Englishman.

G What are websites used for.

H Is a good designed Australian website.

ACTIVITY 15.
1 1. Read and retell the text

WHAT MAKES A GOOD BLOG OR SOCIAL WEBSITE?

Blog sites can be bland and boring. But there 1) hundreds, if not
thousands, of blogs that have stepped outside the standard template to bring a
splash of 2) and originality. Eltoria (www. eltoria.com) is an award-
winning blog that is run 3) Simone Partner a 4) law graduate
from the University of Reading 5) lives near Bath. The purpose of the blog is
6) Simone's interests and talk about some of the amazing brands she has
worked with.
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The blog is a simple 7) of posts, but the combination of fonts,
typography, images, layout and effects make the blog a compelling, imaginative
and engaging presence. The layout 8) an immediate impression. The big
image slider uses well shot lifestyle photography to add a 9) . The social
media channels 10) prominent placing, but it's past the home page that the
site reveals its true self. The gorgeous use of fonts means that the blog instantly
gains class and 11) . The imagery complements perfectly and the inclusion
of author pictures adds 12) personality to the pages.

L1 11. Read the text and complete the gaps (1-12) using the correct answer (A-

D) from the options given below.

1.
Alis B are
C was D were
2.
A creative B creativity
C create D creating
3.
Aon B at
Cin D by
4,
A 23 year old B 23 year olds
C 23 years old D 23 year’s old
5.
A which B whose
C who D where
6.
A express B expresses
C to express D expressed
7.
A select B selection
C selected D selecting
8.
A make B to make
C makes D made
9.
A person B personality t
C personal D personalities
10.
A given B give
Cis given D are given
11

A sophisticate
C sophisticated

B sophisticating
D sophistication
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12.
A more B few
C much D a few

[ 111. Give the synonyms to the words.

v' bland mix / combining
v’ template effect
v’ creativity choice
v’ brand uninteresting
v' selection notable
v combination detect / show
v’ impression pattern / model / sample / example
v’ prominent originality
v’ reveal brand / sort / type
ACTIVITY 16.

1 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6). There are two choices you do not need to use.

WHAT MAKES A GOOD SITE?

A well-conceived website is not only aesthetically pleasing, 1)

Soul Media (www. soulmedia.com.au) is a Melbourne-based digital agency that
has put together a striking and well-constructed site 2) . The home
page makes an immediate impact with a big, bold image and relays the company
message without too many distractions. The main image is a background image
3) , ensuring that it works with all screen sizes. The site is also
‘responsive’, 4) and restyles to fit. This ensures that a site will work
for smartphones, tablets and desktops.

The site itself uses the popular one-page scrolling design. This negates the
need to link to other pages and wait for them to load. It is simply a matter of
scrolling down the page or using the fixed position menu to jump, 5)
to the requested section. The fixed nature of the navigation system means that it |s
always 6) . Alongside the HTML there is good use of web fonts and
CSS3 techniques — text shadows and box shadows are all here in abundance.

A. that scales with the browser window.

B. keeping data in the cloud.

C. in an elegant manner.

D. that demonstrates the traits of good design.

E. using this in conjunction.

F. but also works under the hood as well.

G. visible and ready to use

H. which means that it responds to the size of a screen
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L1 11. Give the synonyms to the words.

v’ digital society / party
v immediate interruption
v impact numeral

v/ company quick / fast
v’ distraction deny / refute
v’ negate delicate

v’ elegant influence

ACTIVITY 17.

£ 1. Read, translate and retell the text.

AN INTRODUCTION TO BLOGS AND SOCIAL MEDIA

Blogs and social media websites are now an integral part of the online
experience for many people. WordPress and Twitter are synonymous with web
publishing and micro-blogging. WordPress has become the most popular web
publishing platform because it is freely available, websites using it can be either
self-hosted or hosted on wordpress.com, arid it has a whole selection of supporting
tools and themes.

WordPress is the power behind millions of websites, it is easy to install,
even for newcomers, and easy to customise and navigate around. There are
thousands of themes on the market, which can instantly give a website a
completely new appearance with a single dick. There is also a vast array of plugins
that allow users to add special widgets that perform specific tasks, for example
adding polls, image sliders, tweets, featured content and so on. The beauty of
blogging platforms such as WordPress is that they provide a platform for users to
get their opinions, thoughts and personality online. While WordPress is the most
popular web publishing platform it is by no means the only one out there. Joomla
and Drupal are similar content management systems, but at the other end of the
scale there are easy to set up, hosted platforms such as Tumblr and Flavors.me.

More instant web publishing is provided by the social media/micro-
blogging platform Twitter. This allows users to communicate with short, concise,
140-character or less, messages (tweets). Messages are sent to all those who
choose to follow you but more importantly the addition of a hashtag (#) makes a
tweet subject specific. This immediately expands the reader base to include
thousands more readers of a tweet. As a promotional tool Twitter is key on the
web. Web sites typically include social media links encouraging visitors to follow.
Conversely, it provides the perfect platform to create interest amongst followers
and beyond. A well-constructed tweet will engage readers and more importantly
drive traffic to a website.

L1 11. Give the synonyms to the words.
v' integral to socialize / connect
v’ experience complete / ideal
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v’ support analogical / parallel
v’ to customize necessary / significant
v’ appearance to supply

v’ to provide practice / knowledge
v’ similar help / assistance

v’ to communicate to modify

v’ perfect look / front

L1 111. Chose the appropriate preposition. (for, by, to, on, with, of).

1) There are thousands of themes _ the market

2) There is a lot of plugins that allow users add special widgets.

3) More instant web publishing is provided the social media/micro-
blogging platform Twitter.

4) Messages are sent all those who choose to follow you.

5) Social media websites are now an integral part of the online experience
many people.

6) Twitter is synonymous web publishing.

7) It has a whole selection supporting tools and themes.

ACTIVITY 18.

L 1. Read the following text. Choose from (A-H) the one which best fits each
of (1-6). There are two choices you do not need to use.

WHO INVENTED HTML?
In the Eighties and Nineties the internet already existed, 1)

between computers and content. Each server had different software,
2) and methods for sharing data. Tim Berners-Lee was working in a
computer services section at CERN — the European Laboratory for Particle Physics
in Geneva, Switzerland. Tim realised that 3) to have a simple method
for sharing information remotely, and rather than invent a completely new system
from scratch, he developed a markup language based on the popular SGML
format. He developed a straightforward protocol — HTTP (which stands for
HyperText Transfer Protocol) — for retrieving other documents' text via hypertext
links. The text format for HTTP was named HTML, for HyperText Markup
Language. 4) Tim encouraged others to build upon his ideas and to
design further software for displaying HTML, and for setting up their own HTML
documents ready for access. This was the birth of the web 5) , and led
to an explosion in use of the internet. HTML itself has been further developed over
time, and we’re now 6) — version 5.

A. by keeping it simple.

B. keeping data in the cloud.

C. it would be useful.

D. that demonstrates the traits of good design.

E. as we know it today
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F. but didn't have any simple way of navigating
G. up to its latest version
H. different protocols

1 11. Give the synonyms to the words.

v’ content origin, source

v’ section meaning, ,matter

v’ simple to cultivate

v’ birth easy / ordinary

v' explosion part / division

v’ to develop outbreak
ACTIVITY 19.

[0 1. Read and retell the text. Put the paragraphs in the write order.

HTML & MOBILE BROWSING

A. Typically, a mobile-optimised website will be presented in one of two
ways: either it will be the full website presented to render nicely on the smaller
screen size that you find on phones and tablets, or it will be a special version of the
website that doesn't contain the same information as the full website.

B. The only real difference between a page optimised for a mobile device
and one orientated towards a desktop computer is the CSS styles that have been
applied. The content, and often the structure, of the page remains plain HTML and
there's no need to learn special skills or additional languages to be able to create
sites that on these devices. That's not to say that you shouldn't consider how your
users are accessing the web page and what information they might need!

C. When you access the web from your mobile phone or tablet, you'll often
notice special pages that have been formatted especially for these devices, rather
than the full desktop version of a website.

D. This latter approach supposes that a mobile visitor to your site is likely to
be more goal-orientated than a desktop visitor, and aims to present the key
information quickly, such as ‘how to find us’, or ‘our contact details’.

E. You might have wondered whether these pages use a special language
especially for mobile devices? The good news is that, just like the rest of the web,
they use standard HTML.

L1 1. Give the synonyms to the words.

v’ access course / progress

v’ often goal / purpose

v’ device extra / supplementary
v good fast /speedily

v’ standard pass

v' special frequently

v' additional instrument / appliance
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v’ way nice
v' aim guideline
v’ quickly particular /specific
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I ®OPMA
INFINITIVE

1
arise
be
bear
become
begin
bend
bind
bite
blow
break
breed
bring
build
burn
buy
catch
choose
come
cost
cut
dig
do
draw
dream
drink
drive
eat
fall
feed
fell
fight
find
fly
forget
give
go
grow
hang
have
hear
hide
hold
keep

IRREGULAR VERBS
II ®OPMA 111 ®OPMA
PAST
PAST SIMPLE PARTICIPLE
2 3
arose arisen
was, were been
bore born
became become
began begun
bent bent
bound bound
bit bitten ( bit)
blew blown
broke broken
bred bred
brought brought
built built
burnt burnt
bought bought
caught caught
chose chosen
came come
cost cost
cut cut
dug dug
did done
drew drawn
dreamt dreamt
drank drunk
drove driven
ate eaten
fell fallen
fed fed
felt felt
fought fought
found found
flew flown
forgot forgotten
gave given
went gone
grew grown
hung hung
had had
heard heard
hid hidden
held held
kept kept

APPENDIXES

MEPEKJIAJI
TRANSLATION

4
miaifMaTucs
OyTu
HApOKyBaTU
CTaHOBHUTHCS, CTaBaTH
MOYMHATH (Cs1)
THYTH
3B'13yBaTH
KycaTH (cs1)
OyTU
namaru (cs)
BHUXOBYBaTH
MPHUHOCUTH
OynyBatu
TOpiTH, MAJTUTH
KyIyBaTH
JIOBUTH, CXOILTIOBATH
BUOWpaTH, T00UpaTH
MPUXOIUTH
KOIITYBaTU
pizatu
PUTH, KONIATH
pobutu
TATTH; MaIIIOBaTH
MpiATH, OAYNUTH YBI CHI
TUTH
BECTH, THATU
ictu
najgatu
rOJlyBaTH
nouyBartu (cebe)
O6opoTwucs, OuTucs
3HAXOJIUTU
TiTaTH
3a0yBaTu
JaBaTH
ITH, XOOUTH
pPOCTH, CTaBaTH
BillIaTH, BUCITU
MaTH
9yTH
XOBaTH
TpUMATH
TpuUMartH, 30epiratu
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I ®POPMA
INFINITIVE

1
know
lead
learn
leave
lend

let

light
lose
make
mean
meet
put
read
ride
rise
run
say
see
sell
send
set
shake
shine
shoot
shut
sing
sink
sit
sleep
smell

speak

spend
spoil
spread
spring
stand
steal
stick
sting
stride
strike
strive
swear
sweep
swim
take

II @OPMA
PAST SIMPLE

2
knew
led
learnt
left
lent
let
lit
lost
made
meant
met
put
read
rode
rose
ran
said
saw
sold
sent
set
shook
shone
shot
shut
sang
sank
sat
slept
smelt
spoke

spent
spoilt
spread
sprang
stood
stole
stuck
stung
strode
struck
strove
swore
swept
swam
took

11T ®OPMA
PAST
PARTICIPLE
3
known
led
learnt
left
lent
let
lit
lost
made
meant
met
put
read
ridden
risen
run
said
seen
sold
sent
set
shaken
shone
shot
shut
sung
sunk
sat
slept
smelt
spoken

spent
spoilt
spread
sprung
stood
stolen
stuck
stung
stridden
struck
striven
sworn
swept
swum
taken

MEPEKJIAJ
TRANSLATION
4

3HATU
BECTHU
BUUTH (C51)
3aJuIIaT
MO3UYaTu
J03BOJIATH, 3[aBaTH B
HalMH1
3arajoBaTH, 3aCBIYyBaTU
ryOHUTH, BTpAa4aTH
pobutu
O3HaYaTu
3ycTpiuaTi
KJIACTH
YUTATH
13IUTH BEPXU
[T IHIMATHUCS
oirtu
Ka3aTu
OaunTu
poJaBaTH
MOCHJIATH
3aX0/UTH (TIPO COHIIE)
TPSCTH
CSISITH, OJIMIIATH
CTPLUISATH
3aKpHUBATH, 3aYHHITH

CIIiBaTH
MMOPUHATH
CUIITH
CIIaTH
HIOXATH, TAaXHYTH

TOBOPUTH, PO3MOBIJIATU

BUTpauaTH
TICYyBaTH
MOIIMPIOBATH
cTpubaru
CTOSITH
KpacTu
TIPUKJICIOBATH
KaJTUTH
KPOKYBaTH
OouTH;CcTpalikyBaTH
cTapaTucs
MIPHUCSTATH
MECTH, HiAMITaTH
IJIaBaTH
Opatu
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I ®OPMA

INFINITIVE

1

teach

tear

tell
think
throw
thrust

understand

upset

wake
wear
weep
win
wind
withdraw
write

II @OPMA
PAST SIMPLE

2
taught
tore
told

thought

threw
thrust

understood

upset

woke
wore
wept
won
wound

withdrew

wrote

PARTICIPLE

111 ®OPMA

PAST

3
taught
torn
told
thought
thrown
thrust
understood

upset

woken
worn
wept
won
wound
withdrawn
written

MEPEKJIAJ
TRANSLATION
4

BYUTH
pBatu
po3Kazatu
aymMaTu
KUJaTH
IITOBXAaTH
PO3YyMITH
HEepEeKHUIaTH;
PO3CTPOIOBATH
NPOKHUIATHCS
HOCHUTH
TUTaKaTH
nepemMaraTH
3aBOJIUTH

Opatu Ha3aj, BIAKINKATH

nucaTu
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VOCABULARY FOR INFORMATION TECHNOLOGY

to back up (backup)

to boot

to burn

to create

to compress
to connect

to copy

to cut

to debug

to decrypt

to delete

to deploy

to develop

to disable

to disconnect
to download
to eject

to enable

to encrypt

to execute

to format

to implement
to initialize
to install

to integrate
to link to

to load

to paste

to plug in

to press (a button)
to read

to reboot

to restore

to save

to scroll up/down
to sort

to switch on/off
to uninstall
to update

to upgrade
to upload

to verify

PROFESSIONALS

CTBOPUTHU PE3EPBHY KOIIIIO
3aBaHTaXXyBaTH
3aMKrCcyBaTH Ha ONTUYHHUM JTUCK
CTBOPIOBATH

CTUCKATU

3’€IHYBATH, M1AKIIOYATUCS
KOITIFOBaTH

BUpi3aTu B Oydep oOMiHy
HAJIaro/KyBaTu
po3mM(ppPOBYBATH
BUJIAJISITH

PO3BEPTATH (nanpuknaji, 10AATOK HA CEPBEpPax)

pO3poOIATH

BIJIKJIFOYATH, IEAKTUBYBATH
pO3’€IHYBATH, BIAKIIOYATUCS
3aBaHTaXyBaTH

BUTSATYBATHU (IPUCTPIA)
BKJIFOYATH

mudpyBaT

BUKOHYBATH

dbopmaryBatu
BIIPOBAKYBATH, PEaTi30ByBaTH
MIPUBOJINUTH B MIOYATKOBUI CTaH
BCTAHOBJTIOBATH

IHTErpyBaTu

MOCUJIATUCS Ha I0-HEOYIb
3aBaHTaXyBaTH

BCTaBIATH 3 Oydepa oOMiHY
BKJIFOYATH

HATUCKATH (KHOIIKY)
3YNTYBaTH
nepe3aBaHTaKyBATH
B1JTHOBJIFOBATH

30epiratu

MPOKPYYYBaTH Bropy / BHH3
COpTyBaTH
BKJTFOYATH/BUMUKATH
BUJIATISITH

OHOBITIOBaTH

MOKpaIIyBaTu
3aBaHTaKyBaTH

nepeBIpsATH
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v

v
v
v

HARDWARE — AITAPATHE 3ABE3IIEYEHHSA:

a bus

a cable

a central processing unit (CPU)
a computer case

a device

a fan

a graphics card (graphics adapter)

a graphics processing unit (GPU)
a hard disk drive (HDD)

a laptop

a light-emitting diode (LED)

a motherboard (mainboard)

a network card

a port

a power supply unit (PSU)

a solid-state drive (SSD)

a sound card (audio card)

a storage device

a touch screen

air cooling

an expansion card
an optical disk drive

an uninterruptible power source
(UPS)

random-access memory (RAM)
read-only memory (ROM)
removable media

water cooling

output devices:

IMHa
Ka0enb

HEHTPaIbHUM MPOIECOP

KOPIIyC CUCTEMHOT0 OJIOKY
MPUCTPIN

BEHTUWJISAITOP OXOJIOJIKEHHS, KyJep
BiJleOKapTa (Bigeoamamntep)
rpadiyHuil mpoiecop

JKOPCTKUU JTUCK

HOYTOYK, HIOPTaTUBHUI KOMIT'FOTEP
CBITJIOIIO

MaTEepUHChKA IJIaTa

MEPEKEBUM aJaNTEP (MepekeBa KapTa)
po3’em, IOPT

OJIOK KUBJICHHS

TBEPJOTUILHUIA HAKOTIMYyBay
3BYKOBA KapTa

3armam'siTOBYIOUHI MPUCTPii ,
HaKOIMUYyBay

CEHCOPHUU EKpaH

MOBITPSIHE OXOJIOIPKEHHSI

Kaprta (Tiara) po3mupEHHs
ONTUYHUI TPUBLL

JOKepeno 0e3nepeOiitHOTO KUBIICHHS

omnepaTUBHA MaM'sITh

MOCTIMHUH 3araM'ssTOBYIOUNNA IPUCTPIid
3HIMHI HOCIi 1H(pOopMaIIii

BOJISTHE OXOJIO/KCHHS

MIPUCTPOI BUBEACHHA:

a monitor — MOHITOD
a printer — TIPUHTEP
a speaker — KOJIOHKA (aKyCTHYHA)
headphones — HaBYIIHUKH
input devices: TIPUCTPOT BBEICHHS:
a keyboard — KJIaBiaTypa
da mouse — MHULIA
a scanner — CKaHep
a digital camera — nuudposa Kamepa
a joystick —  IDKOMCTHK
SOFTWARE - ITPOI'PAMHE 3ABE3INEYEHHS
a compiler KOMITLIATOP
a database 0a3a JaHHBIX
a debugger BiIUTA YUK
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a desktop application/app

a device driver

a graphical user interface (GUI)

a kernel

a mobile application/app

a plug-in (plugin)

a programming language

a query

a scroll bar

a snapshot

a spreadsheet

a status bar

a template

a version control system (VCS)

a web application/app

a word processor

a text editor

a utility

acceptance testing

agile methodology

an algorithm

an array

an encoding

an enterprise application

an executable (file)

an interpreter

an operating system (OS)

application software

aspect-oriented programming (Aop)

binary data

commercial software

data

data processing

extreme programming

firmware

freeware

incremental development

integrated development
environment (IDE)
v’ iterative development
v malicious software (malware)
v’ object-oriented programming
(OOP)

v/ open source software
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JOJTaTOK JJIsl HACTLIHPHOTO KOMITIOTEpa
JpaiiBep MPUCTPOIO

rpadiuHui KOPUCTYBAJILHULIBKUI 1HTEpdelic
A1po (HAIPHKJIIaJ, OTepaIiitHOT CHCTEMH )
MOOUJIBLHUH 10IaTOK

TJIarid, po3MIMPEHHS

MOBa MIPOrpaMyBaHHS

3ammuT

M0JIOCA TIPOKPYTKHU

3HIMOK CTaHy CUCTEMH

CJICKTPOHHA TAOJIHIIS

PSZIOK CTaHy

m1abJI0H

CUCTEMa KOHTPOJIIO Bepcii
B€0-1101aTOK

TEKCTOBHH IIPOLIECOP

TEKCTOBHU peaKkTop

yTHIIITa (CIy>KOO0Ba Mporpama)
npuiiMaibHe TECTYBaHHS

IHY4YKa METOI0JIOT1sI pO3POOKH
ITOPUTM

MacHB

KOTyBaHHS

KOPIIOPaTUBHUM 10JaTOK

(aiis1, 10 BUKOHYETHCS

IHTEpIpETaTOP

oreparliiiHa cucrema

MPUKJIAAHE MPOTrpaMHe 3a0e3MeUeHHS
ACIEKTHO-OPIEHTOBAHE MIPOrPaMyBaHHS
OlHapH1 JaHi

IJIaTHE MpOoTrpaMHe 3a0e3NeYeHHS

JaHi, iHpopMartis

00poOKa JaHux

eKCcTpeMajIbHE POrpaMyBaHHSI
MPOIIKBKA, MIKpOIIporpama
O€3KOIITOBHE MpOrpamMHe 3a0€3MeUeHHS
1HKpEMEHTHA MOJIEb PO3POOKHU

IHTErpOBaHEe CEPEAOBHIIE PO3POOKH

ITepaTHBHA MOJIETTb PO3POOKHU
IIKIJJTMBE TIPOrpaMHe 3a0e3MeueHHs

00'€eKTHO-OPIEHTOBAHE MTPOrpaMyBaHHS

IporpaMHe 3a0€3NCUYCHHS 3 BiIKPUTHM
BHXI1JTHIM KOJIOM
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prototyping
rapid application development

(RAD)

regression testing

runtime (runtime environment)
server software

spiral development

spyware

system software

unit testing

waterfall model

CTBOPEHHS IPOTOTUILY, IPOTOTUITYBAHHS

IIBUJIKA PO3pOOKa 10JIaTKIB
(MeTom0JI0T1s)

perpeciiine TecTyBaHHS
CepeIOBHIIE BUKOHAHHS KOy
CepBepHE MporpamHe 3a0e3meueHHs
criipajbHa MOJIEIb PO3POOKHU
mporpama-mmuryH

CHUCTEMHE TIPOTpaMHe 3a0e3MeUeHHS
MOAYJIbHE TECTYBaHHS

KacKaJiHa MOJIeIb PO3POOKHU

@ INTERNET — IHTEPHET:

a bookmark

a bridge

a browser

a domain

a firewall

a gateway

a hyperlink

a node

a packet

a patch cord

a router

a search engine
a subdomain

a switch

a website

a wireless network

bandwidth

broadband

client-server architecture
cloud computing

cloud storage

dynamic host configuration
protocol (DHCP)

domain name system (DNS)
instant messaging (IM)
Internet service provider (ISP)
local area network (LAN)
latency

media access control (MAC)
address

peer-to-peer (P2P)

twisted pair

3aKnanka (B Opaysepi)

MOCT

Opaysep, orsigad

JIOMEH

OpaHaMayep, M>KMEpEKEBUN eKpaH
ILTO3

rineprnocuIaHHs

BY30J1 MEPEXKI

makeT

KOMyTalliHUI Ka0esb, HaT4-KopA
MapIIpyTU3aTOp, POyTep
[TomykoBa cucrema

MiJIOMEH, CyO10MEH

KOMYTaTop, CBITY

BeO-caiiT, BeO-By3011

0e31poToBa MEpeka

MPOITYCKHA 3/IaTHICTh (kaHaty nepenadi
JTAaHUX)

HIMPOKOCMYTOBHUM JOCTYII B IHTEpHET
KIIIEHT-CEPBEPHA aAPXITEKTypa
XMapHi 00YHCIICHHS

XMapHE CXOBUIIIE IAHUX

MPOTOKOJI TMHAMIYHOT HACTPOMKHU By31a

CHCTEeMa JOMEHHMX IMEH

0OMIH MUTTEBUMH [MOB1TOMJIEHHIMH
IHTEepHET-TIpoBaIep

JIOKaJbHA MEpeka

3aTpUMKa, Mepioj OUIKyBaHHS

anapatHa agapecy, MAC-anpeca

OJIHOPAHTOBa Mepexka, MPIHroBa MEPEKY

3BUTA Mapa
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v" voice over IP (VolP) TOJIOCOBHH 3B'SI30K uepe3 [HTepHer,

v" wide area network (WAN)
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riio0ajgbHa Mepeka, IMpoKoMaciiTadHa
Mepexka

APPENDIX SIGNS USED IN MATHEMATICS
+ —plus
- —minus
X times; multiplied by
- divided by; the ratio of... to... = sign of equality; equals, is equal to
Examples: a-b a equals b, aisequal to b
2x3=6 — twice three is six
4x5=20 — four multiplied by five are (make) twenty
15 : 5=3 — fifteen divided by five is (equals) three
3:6=2:4 —three is to six as two to four
3/8 — three eighths
0.3 — three tenths; nought point three
0.024 — nought point nought two four % per cent
25 % — twenty five per cent
() — parentheses
[ ] brackets
{ } — braces
oo — Infinity
< —1is less than
> — |s greater than
<—is less than or equal to
> — Is greater than or equal to
x;1/x; x%; x3; x*; x°t: X" eks; one over eks; eks squarred; eks cubed; eks to the
fourth power; eks to the minus one; eks to the en
y=f(x) wai is a function of eks

SHORT MATHEMATICS DICTIONARY
absolute value — The numerical value of a number, regardless of the sign of
the number.
acute angle — An angle less than 90° and more than 0°.
acute triangle — A triangle having all acute angles.
amount — The whole; the total; quantity.
angle — A figure formed when two straight lines intersect at a point.
approximate number — A number that is not exact but whose accuracy is
sufficient for the purpose desired.
arc — Any part or a section of a circumference of a circle.
area — The number of square units contained in the surface of a plane figure.
bar graph — A graph made up of parallel bars whose lengths represent given
quantities drawn to scale.
base (of a geometric configuration) — A line or surface upon which a plane or
solid figure rests.
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bisect — To cut into two equal parts, to divide in half.

circle — A closed plane curve all points of which are the same distance (called
the radius) from a point within (called the centre).

circle graph — A graph in the form of a circle in which the angles (parts)
indicate relations to each other and to the whole.

circumference — The curved line bounding a circle; the length or distance
around a circle.

coefficient — A number written in front of an algebraic expression.

common denominator — A number into which all the given denominators
divide evenly.

compasses or compass — An instrument for drawing circles and arcs.

cone — A solid figure having a circular base and curved surface which comes
to a point at the vertex.

congruent triangles — Triangles that have the same size and shape and can be
made to coincide.

consecutive numbers — Numbers that follow one another, such as 1, 2, 3, 4,
etc.

corresponding parts — Angles or sides of triangles which are placed in the
figure in the same positions.

cube — A rectangular solid with 6 equal square faces or, the product obtained
by multiplying a number by itself three times.

cylinder — A stolid figure with bases made of two equal circles and with
curved sides.

decagon — A polygon having ten sides and ten angles.

decimal fractions — A part of a whole expressed by using a decimal point.
degree — A unit used in measuring angles. 360°=one complete rotation.
diameter — A straight line drawn through the centre of a circle and dividing
the circle into two equal parts.

digit — Any one of the ten numbers from 0 to 9.

dimension — A linear measurement such as the length, width, height of a
figure.

equation — A statement showing the equality of two quantities.

equivalent fractions — Fractions having different forms but equal values.
evaluate — To determine the value of an unknown letter in a formula; to find
the value of an algebraic expression by substituting in the arithmetic values of
the literal quantities.

exponent — The; small number or letter written slightly above and to the right
of a number or letter to indicate how many times the number is to be
multiplied by itself.

factor — One of two or more numbers which when multiplied together give a
certain product.

formula — A statement of a general rule expressed by means of letters and
numbers.

graph — A representation of relationships by means of lines, bars, circles or
symbols.
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height — The distance from the top to the base of an object.

hemisphere — One half of a sphere.

hexagon — A plane figure having six sides and six angles.

hypotenuse — The side opposite the right angle in a right triangle.

isosceles triangle — A triangle having two equal sides.

like terms — The terms of an algebraic expression containing the same letter;.
lowest terms — When both the numerator and denominator of a fraction are
reduced as far as possible.

maximum — The greatest value of a quantity.

metric system — A system of weights and measures based on the decimal
system.

minimum — The smallest value of a quantity.

monomial — An algebraic expression consisting of a single term.

negative number — A number whose value is less than zero and which is
preceded by minus sign.

obtuse angle — An angle containing more than 90° but less than 180°.

obtuse triangle — A triangle containing an obtuse angle.

octagon — A plane figure containing 8 sides and 8 angles.

parallel lines— Lines that extend in the same direction and are the same
distance apart no matter how far extended.

parallelogram — A four-sided figure (quadrilateral) whose opposite sides are
parallel.

pentagon — A plane figure with 5 sides and 5 angles.

per cent — A value expressed in hundredths using the per cent sign (%) or the
words "per cent",

perimeter — The sum of the lengths around a plane figure.

perpendicular lines — Lines which intersect so as to form right angle.

pi (r) — The ratio of the circumference of a circle to its diameter; 1=3.14159
or 22/7.

polygon — A plane figure having any number of sides and angles.

positive number — A number whose value is greater than zero and which is
sometimes preceded by plus sign.

protractor — An instrument marked off in degrees used for measuring or
making off angles of a given size.

pyramid — A solid figure having triangles for faces.

quadrilateral — Any four sided plane figure.

radius — The distance or straight line from the centre to the circumference of a
circle.

ratio — The comparison by means of a division of two like quantities.
rectangle — A quadrilateral whose opposite sides are equal and which has four
right angles.

rectangular solid — A solid figure whose six faces are rectangles.

regular figure — A plane figure whose angles are equal and whose sides are
equal in length.

right angle — An angle which contains 90°; one fourth of a rotation.
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round number — A number that is approximate to a certain extent, not
accurate.

scale drawing — A drawing that is the exact shape of an object but which is
reduced or enlarged in size in a definite ratio.

scalene triangle — A triangle in which no two sides are equal.

secant — A line drawn through a circle and extending beyond it.

sector — The portion of a circle between two radii and an arc.

semicircle — Half of a circle.

signed number — Positive and negative numbers, directed numbers.

solid figure — A figure having three dimensions: length, width and height.
sphere — A circular solid such that all points on a surface are the same
distance from the centre.

square — A rectangle all of whose sides are equal, or the product obtained by
multiplying a number by itself two times.

straight angle — An angle containing 180°.

symbol — A representation by means of a sign or a letter.

symmetry — The correspondence of parts such as lines or points.

term — A member of an expression.

trapezoid — A quadrilateral having two parallel sides.

triangle — A closed plane figure with three sides and three angles.

triangular prism — A solid figure having 3 rectangular faces and 2 parallel
triangles for bases.

unlike terms — The terms of an algebraic expression containing different
letters.

vertex — The point of intersection of the sides of an angle.

volume — The number of cubic units in a solid figure.

ENGLISH-UKRAINIAN VOCABULARY OF MATHEMATICAL
TERMS

Abbreviate — ckopouyBatu

Abscissa — abcruca

Acquire — 3100yBaTH; NOCATAaTH; ONTAHOBYBATH
Accuracy — TOYHICTb, TPABUIIBHICTh

Actually — nmiiicHo, hakTH4HO

Acute — roctpuii

Addend — noganox

Addition — tonaBanHs

Adjacent — mpuieriuii, CyMi>KHHIA

Advantage — nmepeBara

Adverse — mpoTuiIeKHUI

Alternative — ajgpTepHaTHBA; B3a€MOBHUKITIOYHHIA
Amount — cyma, KiIJIbKICTb

Angle — xyt

VVVVVVVVVVVYVYYY
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Annex — npueIHyBaTH, IPUIKCYBATH, JTOAABATH
Apply — noxiiagatu, ToKIaaaT
Apportionment — nporopiiHUKE PO3MOILT
Approximately — nmpu6n3HO

Arbitrary — noBinbHuit

Arc — nayra, apka

Area —1uiomia

Arithmetic — apupmernka

Arrange — po3minyBaTH, po3TarioByBaTH
Average — cepeliHe, cepeIHE YUCIIO0

AXis — BiCbh

Base — ocHoBa

Below — Hikye, BHU3Y

Binomial — 6inom, nBouseH, ABOWIEHHNUH, OiHOMIaIbLHHMA
Bisect — ginuTy HaBILI

Blueprint — cuHs Kormist, «CHHBKa
Bound — rpanb, Mexa

Brace — ¢irypna myxka

Bracket — kBampatHa myxka
Break —nepepuBatu

Branch — rinka, ramy3ss

Briefly — kopoTko, cTucio

Bushel — 6ymens (Mipa 00'emy)

Calculation — o6umcnenHs, miapaxyHoK

Carry — BUKOHYBaTH, TIPOBOUTH

Centre — uentp

Change — 3miHtOBaTH

Characteristic — xapakrepHa prca (03HaKa)
Chart — xapra, cxema, TaOHIIs, JlarpaMa
Check — mepeBipsTH, KOHTPOJIIOBATH

Choose — BuOuparu

Chord — xopna

Circle — ko710, OKpYXKHICTB

Circle graph — kpyrosa giarpama
Circumference — okpy»kHiCTh KoOJia

Cross — puca, XpecT; IepeTUHATH

Clockwise — (pyxa€eTbes) B HAalPSIMKY TOJAUHHUKOBOI CTPLIKH
Closed figure — 3amkHyTa Qirypa

Coefficient — koeimienT, iHIEKC

Co-function — ko-dpyHKItis

Column — crosrens

Coincide — 36iratucs, BiOBIIaTH, MOEAHYBATH
Combination — moeHaHHS, 3'€ THAHHS
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Combined — cknamoBor0, KOMOIHOBaHUI
Common denominator — crijibHUN 3HAMCHHUK
Common fraction — npocTwuii apid
Compare — mopiBHIOBaTH, 31CTaBIATH
Complementary — mogaTkoBuii

Complete — moBHUIA, 3aKIHUCHUI
Compound — cKJIagoBHi, CKJIaTHHIMA
Computation — oGuHCICHHS, PpO3PaXyHO
Compute — migpaxoByBaTH, BBAXKaTH
Concern — crocyBaTHcs, MATH BiTHOIIICHHS
Confine — oOmexyBaTH, yKIaaaTu
Congruent — KOHTpYEeHTHUH, 110 CIIBMAJIa€
Connect —3'ennyBaTu

Consider — po3risgaTi, BpaxoByBaTH
Consist — ckimamatucs

Construct — koHCTpyIOBaTH

Contain — MmictuTt B c00i, BMimaTu
Convenience — 3py4HicTh

Conversely — vazan

Convert — 3BepTaTh, IEPETBOPIOBATH
Coordinate — kooparHATHMIA

Corner — xyT, BepIImHa

Correct — BunmpaBisTH

Corresponding — BiamoBigHMIA, BiAMOBIIHI
Corresponding angles — BiAmoBiIHI KyTH
Cosecant — kocekaHc

Cosine — KocHHYC

Cost — omiHIOBaTH, KOIITYBAaTH; BapTICTh
Cotangent — koTaHrexc

Count — paxyBaTH, miapaxoByBaTH
Counterclockwise — mpoTv TOAMHHUKOBOI CTPIIKH
Cube — xy0, 380,1uTH B Ky0 (B TPETIO CTYITiHb)
Curve — kpuBa JiHIA

Cut — mepetunaTH (TIpo JIiHIT)

Cylinder — mutinap

Data — nani

Decagon — necsaTUKyTHUK

Decide — BupiuryBatu

Decimal — necsitkoBuii

Decimal place — necsitkoBuii po3psi

Decimal point — Touka (koMa) B I€CITKOBOMY YHCITi
Decrease — 3meHIIyBaTH, CliaaTu

Definite — meBHuit

Degree — ctynins, rpaayc
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Denominate — Ha3uBaTH, iIMEHYBaTH
Denominator — 3aameHHuK (Apo0y)

Denote — mo3nauatu

Depend — 3anexaTu

Desirable — 6axxanuii

Determine — Bu3HauaTy, 00YNCIIOBATH
Diameter — giametp

Different — pizuuit

Digit — nudpa, ogHO3HAYHE YHCIIO, PO3PS
Dimension — po3mip

Diminish — 3smenmyBatu (cs1), CKOpodyBatH (cs1)
Directly — 6e3nocepenabo

Disfigure — cnotBoproBatn

Display — moka3yBatu, BKa3yBaTH, BUAUIATH
Distance — BincTaub, JaJbHICTD
Distinguish — po3pi3HsATH, Bi3HAYaTH
Distribution — po3moii, po3moBCIOIKCHHS
Distributive law — po3noainsHuit 3aK0H
Divide — nginutu

Dividend — ginene

Divisible — moxinbaumii

Division — ninenns

Divisor — niyIbHHAK

Dot — touka, kpanka

Dotted — myHKTHpHHMI

Double sign — moapiitauii 3Hak
Draughtsman — kpecsip

Drawing — kpecieHHs

Drop — omyckaTu (meprieHIuKyIIsp)
Duration — TpuBaticTh

Edge — rpanb

Entire — winuii, MOBHUI; CyIIbHUN
Equation — piBHsSHHS

Equality — piBHicT

Equivalent — piBHO3HauHUI1, PIBHOIIIHHMIA; €KBIBAJICHT
Environment — cepeaoBuiiie, OTOYCHHS
Establish — nosectn, BcraHoBIrOBaTH
Evaluate — BuCIIOBITIOBaTH B YHCIIax
Evenly — piBHOMipHO

Evolution — noOyBaHHs KOpeHs
Explain — mosicHroBaTH, TIIyMa4nuTH
Exponent — noka3Huk cTyneHs

Expose — po3kpuBaTu

EXpress — BucioBioBaTH
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Expression — Bupas
Extend — po3muproBaTu
Extract — ButsaryBaTu KOpiHb

Face — rpanb

Factor — MHOXKHHK

Figure — mamoHok; irypa

Fit — BigmoBimaTH, TOMUTUCS

Fixed point — mocTiitHa To4Ka, IEBHA TOYKA
Foot — ¢yt (Mipa noBxHHA)

Formula — popmyia

Fraction — npo6

General — 3aranpHuMiA, TOJIOBHHUI
Geometric — reoMeTpUIHAN
Gram — rpam

Graph — miarpama, rpadik

Hypotenuse — rinorenysa

Half — monoBuna

Height — Bucora

Hence — oTxe

Hexagon — mecTukyTHUK

Higher term — Burwmii uieH
Hindu-Arabic numeral — inmo-apabcbke uncio
Horizontal — ropu3onTansHMit
Hour — roagnua

Hundred — cto

Hundredth — coruii; cora yactuna

Identify — oroToxHIOBaTH

Importance — 3HaueHHs; 3HAYYIIICTh
Improper — ueBipHwMit

Inaccurate — HeTouHUMIA; HEBIpHUI

Inch — qroiim

Include — yknagatu, MicTUTH B cO01; BKIIOYATH
Increase — 3pocTaTu, 301JIbITYBaTH
Indefinitely — HeoOMexxeHO, HEBU3HAYEHO
Indicate — ciy>xutn 03HaKOIO, TOKA3yBaTH
Infinite — HeckiHUCHHMT

Inscribe — BiucyBaTu

Inside — BayTpimIHiit

Inspect — posrnsanaru

Integral — inTerpai; iije yuciio
Interpolation — inTeprossiiis
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Interchange — oOmin

Intersect — nmeperunaru (cs1), cxpenryBaTtu (cs)
Inverse — 3BopoTHHI

Involve — 3amyuatu

Involution — 3BeficHHS B CTYIIHb

Isosceles — piBaoOeapeHuit

Item — myHkT, maparpad, okpemuii mpeamer

Label — BigmiTKa, mo3HaYeHHS
Lateral — Oiunuii

Law — 3akoH, paBUIIO

Length — noBxuHa

Lengthwise — B 1oBXHHY, B3I0BXK
Lessen — 3MeHIyBaTu

Like — moniOuumit

Linear — minifiuuit

Logarithm — norapugm
Logarithm scale — norapudmivnuii macrad
Lowest term — HrKuuii dieH

Magnitude — BenmmunHa, po3mip

Mantissa — manTuca

Marc off — BimokpemiroBaTH

Mathematics — maremarnka

Mean — cepeHe 4ncio; cepeaHin

Metric system — meTpu4Ha cucTemMa

Mile — mus

Minuend — 3meHIyBane

Minute — xBunuHa; 1/60 yactruHa rpagyca
Mistake — mommiika

Mixed number — 3mirrane uncio

Modify — Bumo3miHoBaTH

Monomial — ogrouEH

Move — pyxaTu; KepyBaTH, MaHIyJIFOBaTH
Multinomial — 6araTounennmit; MHOTOYJIEH, TTOJTIHOM
Multiplicand — muOXCcHE

Multiplication — mHOKEeHHS

Near — maiixke, OJIM3BKO

Number — gucno, KiIbKiCTh; HyMepyBaTH
Numeral — uudpa; ynucoBuii, upoBuii
Numerator — 4ucenbHHUK

Object — mpeamer
Oblique — nmoxumuit
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Obtain — mocsraTu; OTpUMyBaTH

Obtuse — Tynwuii

Omit — mpomnyckaTty; He BKIIIOYATH
Operation — xist; omepariis

Opposite — mpOTUIEIKHUHN, TPOTUICIKHHIA
Ordinary — 3Bu4aitHuii

Original — mouaTKOBuUii, BUX1THHIA

Ounce — yHiist (Mipa Barm)

Outside — 30BHi

Parallel — mapanenpanii

Parallelogram — mapanenorpam

Parenthesis — kpyria ckoOka

Part — yacTiHa, yacTKa; BiJOKpEMITFOBATH
Partial — vacTkoBwmii

Particular — ocobmuBwmit

Peck — mipa cumydux Tin

Per cent — Ha coTHIO, BIZICOTOK

Percentage — BiZICOTOK, IPOILICHTHE BiTHOIIECHHS
Perfect — rounuii, 3aKiHUeHUI

Perform — 3nificHIOBaTH; BUKOHYBAaTH

Perimeter — nepumeTp, TOBKHUHA 3aMKHYTOI KPHUBOT
Period — po3psi; iepion

Perpendicular — neprienaukyssip

Phenomenon — siumie

Pictogram — mikTorpama, jaiarpama

Pictorial — naounui

Pie graph — xpyrosa giarpama

Pint — minTa

Polynomial — mHOTOWIEH, TTOIIHOM

Portion — yacTrHa, 4acTKa; pO3AUIATH, JUTHTH Ha YACTHHH
Possibility — moxxiuBicTh

Pound — ¢yuT (Mipa Barn)

Power —cTymiHb, MOKa3HUK CTYNEHS

Price — mina, oIjiHIOBaTH

Prime — nepBUHHUH, IITPUX

Principle — akcioma, 3aKOH, OCHOBHE TIOJIOKECHHS
Prism — npusma

Problem — 3amaga, mpoGiema

Proper fraction — npaBuibHU#T 1pi0

Property —Bi1acTuBiCTh

Protractor — TpaaciopTup, KyTomip

Provide — nagatu

Purpose — meta; Hamip
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Quadrant — kBajpaHT; YBEPTh KPyTa; CEKTOP
Quadrilateral — woTupukyTHHK

Quantity — KiTbKiCTb, BEIMYHHA

Quart — kBapra (Mipa piguHN)

Quarter — uBepThH

Quotient — yacTka

Radian —panian

Radius —paniyc

Raise to a power —iiHOCHTH JI0 CTYTICHS
Random —BumagkoBuii, TOBUILHUN

Rate — BigHOEHHS; KOS(IIIEHT; MIBUIAKICTH
Ratio — mponopiiist; BiJHOIEHHS; KOSPIIIEHT
Reading — moka3aHHsl, YUTaHHS

Rectangle — npssMOKyTHHK

Rectangular — nmpsimoxyTHHI

Reduce — ckopouyBaTH, 3MEHIITYBAaTH

Refer to — mocmiiatucs Ha, MaTH BiJHOLIEHHS
Reference — mocunanus

Reflex — BimoOpaskeHHs

Regular — npaBunbHHIN, perysspHUA

Relate — craBuTHCs

Relation — BigHOIMIEHHS, CIIIBBIIHOIIEHHS
Remainder — 3aiuIoK, 3aJuIKOBUi YWIEH
Remove — ycyBaTu, BUKpeCTIOBaTH

Replace — 3aminroBaTH; 3aMiaTi

Represent — mpencraBnaTu, 300paxkaru
Require — Bumaratu

Respectively — BiamosiaHo, 110,10
Restriction — oOMexeHHs, CKOPOUYCHHS
Result — pe3yabTar, miacyMoK, BACHOBOK
Right — npsiMuii, IpSAMOKYTHHIA

Root — xopinb

Round —off — okpyrienns

Satisfy — 3a10BOIBHSTH

Scale — macrrra0, po3mip; mkaga; CHCTeMa YHCICHHS
Scalene — HepiBHOCTOPOHHI, PI3HOOIYHHU

Secant — ciuyHu#, 1110 IEPETUHAE; CEKAHC

Segment — cermeHT, BiIpi30K

Select — moGipHuii, 0OpaHuit

Semicircle — miBkoo

Series — psin, cepis

Set — psa; cucrema, KOMILIEKT

Shorthand — crenorpadis

81



& AHIJIICbKa MOBA I Qi3UKO-MATEMATHYHOT0 HATIPAMY &

YVV VVVVVVVVVVVVVVY VVVVVVVVVVVVVVVVVVVVVVVVYYY

Side — cropona; 0ik; Kpaii

Sign — 3HaK; CUMBOJI; O3HAKa

Simplify — ciporyBaTu

Since — 3 Tux mip K

Sine —cinyc

Size — po3mip, BearunHA

Slide —moxwuna riomuHa

Solution — pimenns

Solve — po3B’s3yBatu

Special —cnemianbpHMit; 0COOIUBHIMA
Specific — xapakrepHuii; TOYHHINA

Square — kBaapat; BO3BOJAUTH B KBaApaT
Standard —3pa3ok, mipa, HOpMa

State — copmynroBatu

Statement — popmytoBaHHS; BUKIaA
Straight — mpsimui

Subdivision — miapo3mia

Substitute — miacrasiasaTu

Subtend — ctaryBatu (ayry; 60Ky TPUKYTHHKA)
Subtract — BuunrtaTu

Subtrahend — Bix'emManK

Sum — cyma; mijcymMok; apudMeTHIHa 3a1a4a
Supplementary — nogaTkoBuii

Symbol — nmo3HaueHHs; 3HaK
Symmetrical — cumerpuaHmiA

System — cucrema

Table — Tabmuua

Tenth — gecara yactuHa; necATUi

Term — uneH; Tepm

Terminal — 3axrouHnil; KiHLIEBUNA
Theorem — teopema

Thickness — ToBimHa; map

Thousand — tucsiaa

Ton — Tonna

Top — BepiKHa; BepxiBKa

Total — Bech, minmii

Transform — nepeTBoproBaTH, IEPETBOPIOBATH
Trapezoid — Tpamertis

Trinomial —tpuunen

True — BiANOBIAATH HOPMI; TIPABUIILHUI
Turn — noBepratu

Unequal — HeagekBaTHBIH, HEPiBHBIH
Until — oguans
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Unlike — Hecxoxuii Ha
Upper — BepxHiit

Value — Benmnunna; 3Ha4YE€HHS

Vary — pacxoauTHCh, 3MIHITHUCH
Various — pi3Huii

Vertex — BepiinHa

Vertical — BepTHKaIIbHBIN; BEPTUKAIH
Vice-versa — HaBIIaku

Visual — 3opoBuii

Volume — o0csr; maca

Weight — Bara, TSDKKICTh
Whole — minnii, Bech
Width — mmpuna, BigcTanb
Without — 6e3

Yard — sipa (Mipa JOBXKHHH)
Yield —BunaBaru, naBatu

Zero — HyJb
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B opykoeaniii éepcii uoann:.
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